
CHEMISTRY

JEE (MAIN AND ADVANCED) CHEMISTRY

CARBOXYLIC ACIDS

Level I Exercise I Introduction Nomenclature

1. The general formula of saturated open chain carboxylic acid is

A. 

B. 

C. 

D. 

Answer: B

W t h Vid S l ti

C2H2n+ 2O2

CnH2nO2

CnH2n− 2O2

CnH2n− 4O2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_xaEhinTmbFWH


Watch Video Solution

2. The acid obtained from red ants is

A. formatic acid

B. formalin

C. acetic acid

D. formalic acid

Answer: A

Watch Video Solution

3. Which of the following is known as vinegar

A. 5% aqueous solution of formic acid

B. 5-6% aqueous solution of acetic acid

C. 40% aqueous solution of formic acid

https://dl.doubtnut.com/l/_xaEhinTmbFWH
https://dl.doubtnut.com/l/_LfCG3hwuc0jA
https://dl.doubtnut.com/l/_YTDAncC5qoWW


D. 40% aqueous solution of acetic acid

Answer: B

Watch Video Solution

4. The acid extracted from valerian plants is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

C3H7COOH

C2H5COOH

C4H9COOH

HCOOH

https://dl.doubtnut.com/l/_YTDAncC5qoWW
https://dl.doubtnut.com/l/_qGKLacXVYClA


5. IUPAC name of

 is

A. 4-ketopentanoic acid

B. 3-ketobutanoic acid

C. 3-carboxy-2-pentonone

D. 3-carboxy-2-butanone

Answer: B

Watch Video Solution

6. Which of the following name(s) is/are appropriate for CH3CH2COOH

https://dl.doubtnut.com/l/_LFPUaElZFfGi
https://dl.doubtnut.com/l/_N8ZebshMNyXV


A. Methylethonoic acid

B. Propanoic acid

C. Propionic acid

D. All the above

Answer: D

Watch Video Solution

7. Which of the following is a pair of functional isomers ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3COCH3, CH3CHO

C2H5COOH, CH3COOCH3

C2H5COOH, CH3COOC2H5

CH3COOH, CH3CHO

https://dl.doubtnut.com/l/_N8ZebshMNyXV
https://dl.doubtnut.com/l/_R4UO38Mkt2ng


8. Which of the following carboxylic acid is optically active

A. 3-Methylbutanoic acid

B. 4-Methylpentonic acid

C. 2-Methylbutanoic acid

D. All the above

Answer: C

Watch Video Solution

9. The common name of cis-butenoic acid is

A. Maleic acid

B. Formanic acid

C. Malic acid

https://dl.doubtnut.com/l/_R4UO38Mkt2ng
https://dl.doubtnut.com/l/_hf6TYN9Mbwrd
https://dl.doubtnut.com/l/_a7kqXRAgHhOu


D. Malonic acid

Answer: A

Watch Video Solution

10. Which of the following is known as tere-phthalic acid ?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_a7kqXRAgHhOu
https://dl.doubtnut.com/l/_rAvNg2M69Cr3


D. 

Answer: D

Watch Video Solution

11. Glacial acetic acid is

A. 75% acetic acid with 25% water

B. 10% acetic acid with 90% water

C. 90% acetic acid with 10% water

D. 100% pure acetic acid

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_rAvNg2M69Cr3
https://dl.doubtnut.com/l/_3KW0xW8gAwvk


12. The common name of  is

A. Acrylic acid

B. Propenoic acid

C. Propionic acid

D. none of these

Answer: A

Watch Video Solution

CH2 = CHCOOH

13. Which of the following is known as salicyclic acid ?

A. 

https://dl.doubtnut.com/l/_3KW0xW8gAwvk
https://dl.doubtnut.com/l/_1zqzUEdV1Prc
https://dl.doubtnut.com/l/_chhtEVnKBMHt


B. 

C. 

D. 

Answer: A

Watch Video Solution

14. Which of the following is likely to possess highest M.P.

https://dl.doubtnut.com/l/_chhtEVnKBMHt
https://dl.doubtnut.com/l/_s5Jo5aCRtuf5


A. 

B. 

C. 

D. All possess same M.P. as they are isomers

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_s5Jo5aCRtuf5


15. The minimum number of carbon atoms to be present in a carboxylic

acid to exhibit optical activity is

A. 7

B. 5

C. 6

D. 4

Answer: B

Watch Video Solution

16. Among the following organic acids, the acid present in rancid butter is

:

A. Pyruvic acid

B. Lactic acid

C. Butyric acid

https://dl.doubtnut.com/l/_NcEI0LGlxos7
https://dl.doubtnut.com/l/_OWlOdTlfvPNE


D. Acetic acid

Answer: C

Watch Video Solution

17. In the reaction sequence  . What is

the molecular formuls of Y ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

C2H5Cl + KCN
C2H5OH
−−−−→ x

H3O
⊕

−−−→
Δ

Y

C3H6O2

C3H5N

C2H4O2

C2H6O

https://dl.doubtnut.com/l/_OWlOdTlfvPNE
https://dl.doubtnut.com/l/_PXDSQ7dECFvy


18. Oxidation of primary Alcohols �nally gives

A. Aldehydes

B. Ketones

C. Carboxylic acids

D. Esters

Answer: C

Watch Video Solution

19. Which one of the following when reacts with  followed by

hydrolysis gives acetic acid ?

A. CO

B. 

C. 

D. 

CH3MgBr

CH3CHO

C2H5OH

CO2

https://dl.doubtnut.com/l/_ZZ0cyB2a44Ds
https://dl.doubtnut.com/l/_4O597mwKmWR6


Answer: D

Watch Video Solution

20. Acetonitrite when boiled with alkali gives

A.  only

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3COOH

CH3COOH + C2H5OH

CH3COOH + NH3

CH3COOH + H2

21.  here X is

A. Cu

CH3OH + CO
X

−−−−−→
Δpressure

CH3COOH

https://dl.doubtnut.com/l/_4O597mwKmWR6
https://dl.doubtnut.com/l/_tuZ4Sh727S1f
https://dl.doubtnut.com/l/_3XuGZu0Uhz7W


B. Co

C. Rb

D. Ni

Answer: B

Watch Video Solution

22. Which one of the following functional groups undergoes with alkali to

yield a carboxylic acid ?

A. 

B. 

C. 

D. both 1 and 3

Answer: A

Watch Video Solution

−CN

−CHCl2

−CONH2

https://dl.doubtnut.com/l/_3XuGZu0Uhz7W
https://dl.doubtnut.com/l/_HRyUS9N7ITv3


23. Ethyl Benzene  Predict X in above reaction

A. 

B. 

C. Benzoic acid

D. Benzaldehyde

Answer: C

Watch Video Solution

( i )KMnO4 /OH −

−−−−−−−−−−−→
( ii )H + /H2O

X

C6H5CH2COOH

C6H5CH2CHO

24.  In the above reaction , product P is

A. Phenol

B. Benzoic acid

C. Benzaldehyde

D. Benzophenone

C6H5MgBr
( 1 )CO2

−−−−−→
( 2 )H3O

+
P

https://dl.doubtnut.com/l/_HRyUS9N7ITv3
https://dl.doubtnut.com/l/_09ORZE48QoFb
https://dl.doubtnut.com/l/_1BC8Wom03loC


Answer: B

Watch Video Solution

25. Lower carboxylic acids are soluble in water due to

A. Low molecular weight

B. Hydrogen bonding

C. Dissociation into ions

D. Easy Hydrolysis

Answer: B

Watch Video Solution

26. Which of the following posses highest boiling point ?

A. C2H5Cl

https://dl.doubtnut.com/l/_1BC8Wom03loC
https://dl.doubtnut.com/l/_TtrhggVrWzRI
https://dl.doubtnut.com/l/_XhdZ4ie5kAGY


B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3CHO

C2H5OH

CH3COOH

27. Which of the following exists as dimer in benzene ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3CHO

CH3COCH3

CH3CH2OH

CH3COOH

https://dl.doubtnut.com/l/_XhdZ4ie5kAGY
https://dl.doubtnut.com/l/_M5GRpHMsBW60
https://dl.doubtnut.com/l/_R6a7ZW8RLpCZ


28. Acetic acid can be used

A. For curing meat and �sh

B. As vinegar in cooking

C. In the preparation of perfumes

D. All

Answer: D

Watch Video Solution

29. Which of the following is not a fatty acid

A. Propionic acid

B. Oxalic acid

C. Valeric acid

D. Stearic acid

https://dl.doubtnut.com/l/_R6a7ZW8RLpCZ
https://dl.doubtnut.com/l/_wN37Bjv9iJ51


Answer: B

Watch Video Solution

30. The reagent used for converting ethanoic acid to ethanol is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

LiAlH4

BH3

PCl3

K2Cr2O7

31. Which of the following compound is formed when ethanol reacts with

acetic acid in the presence of concentrated  .H2SO4

https://dl.doubtnut.com/l/_wN37Bjv9iJ51
https://dl.doubtnut.com/l/_RTxttafHaw1J
https://dl.doubtnut.com/l/_PXyr9sKt8rMW


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3COOC2H5

C2H5OC2H5

CH3OCH3

CH3CH2CHO

32. Which of the following is the strongest acid

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CF3COOH

CBr3COOH

CH3COOH

CCl3COOH

https://dl.doubtnut.com/l/_PXyr9sKt8rMW
https://dl.doubtnut.com/l/_JMSOI6LNhTTO


33. Which of the following is the weakest acid ?

A. Phenol

B. 

C. 

D. Benzoic acid

Answer: A

Watch Video Solution

CH3COOH

HCOOH

34. Among ethanol (I) , Acetic acid (II), Phenol (III) and Benzoic acid (IV) ,

the corret order of increasing acid strength is

A. 

B. 

C. 

I < II < III < IV

I < III < II < IV

I < III < IV < II

https://dl.doubtnut.com/l/_JMSOI6LNhTTO
https://dl.doubtnut.com/l/_ckZYXtw27Ko6
https://dl.doubtnut.com/l/_8ZFADLZcapiB


D. 

Answer: B

Watch Video Solution

III < IV < I < II

35. Among -Nitroacetic acid (1) -Fluoro Acetic Acid (2) -Fluoro Acetic

Acid (2) , - Bromoacetic acid (3) , -Cyanoacetic acid (4) the correct order

of increasing acid strength is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

α α , α

α α

3 < 1 < 4 < 1

1 < 2 < 3 < 4

2 < 4 < 3 < 1

4 < 2 < 3 < 1

https://dl.doubtnut.com/l/_8ZFADLZcapiB
https://dl.doubtnut.com/l/_5rxACkq4H3s8


Level I Exercise Ii Preparation And Properties

1. , What is 'Y' ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C2H5OH
K2Cr2O7 /H +

−−−−−−−−→ (X)
O

−−→ (Y )

CH3CHO

CH3COOH

CH3COOC2H5

CH3COCH3

2. The catalyst used in the manufacture of acetic acid from acetaldehyde

by the atmosphere oxygen is

A. 

B. 

(CH3COO)2Mn

(CH3COO)2Zn

https://dl.doubtnut.com/l/_2VOxUYwUq175
https://dl.doubtnut.com/l/_U5ZGgOX2f8xU


C. 

D. 

Answer: A

Watch Video Solution

CH3COOK

CH3COONa

3. The reagent used for the detection of a carboxyl group in a organic

compound is

A. 

B. 

C. Na

D. 

Answer: D

Watch Video Solution

PCl5

SOCl2

NaHCO3

https://dl.doubtnut.com/l/_U5ZGgOX2f8xU
https://dl.doubtnut.com/l/_ZYrCBCtrYr4v
https://dl.doubtnut.com/l/_m2CSpc1BPBiT


4. Which of the following does not participate in HVZ reaction.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3COOH

CH3CH2COOH

CH3CHClCOOH

(CH3)3CCOOH

5. The gases liberated at anode during electrolysis of an aqueous solution

of potasssium acetate is

A. 

B. 

C. 

D. 

C2H6, CO2

C2H6, H2

CH4, CO2

C2H6, CH4

https://dl.doubtnut.com/l/_m2CSpc1BPBiT
https://dl.doubtnut.com/l/_jmaoSMTRgdNl


Answer: A

Watch Video Solution

6. Carbondioxide present along with ethane is removed by passing the

mixture through

A. Conc. 

B. dil. HCl

C. Solid KOH

D. dil. 

Answer: C

Watch Video Solution

H2SO4

H2SO4

7. . Here 

acts is

C2H5OH + CH3COOH
H2SO4

⇐=⇒ CH3COOC2H5 + H2O H2SO4

https://dl.doubtnut.com/l/_jmaoSMTRgdNl
https://dl.doubtnut.com/l/_saBOQoRKoRex
https://dl.doubtnut.com/l/_WVNnrM02BgTP


A. oxidising agent

B. Reducing agent

C. Dehydrating agent

D. negative catalyst

Answer: C

Watch Video Solution

8. The intermediate compound formed during the hydrolysis of 

is

A. 

B. 

C. 

D. 

Answer: C

CH3CN

CH3COOH

CH3COONH4

CH3CONH2

CH3CH2NH2

https://dl.doubtnut.com/l/_WVNnrM02BgTP
https://dl.doubtnut.com/l/_EG0sjT6yTq9b


Watch Video Solution

9. Hydrolysis of an ester gives a carboxylic acid which on Kolbe's

electrolysis yields ethane ester is

A. methyl ethanoate

B. methylmethanoate

C. ethyl methanoate

D. methyl propanoate

Answer: A

Watch Video Solution

10. The gas liberated by the electrolysis of Dipotassium succinate solution

is

A. Ethane

https://dl.doubtnut.com/l/_EG0sjT6yTq9b
https://dl.doubtnut.com/l/_Q8wbNE36jb5i
https://dl.doubtnut.com/l/_B0oOdkMzS9JB


B. Ethyne

C. Ethene

D. Propene

Answer: C

Watch Video Solution

11. Compound A reacts with  to give B which on treatment with KCN

followed by hydrolysis gave propionic acid. What are A & B respectively?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

PCI5

C3H8&C3H7Cl

C2H6&C2H5Cl

C2H5OH&C2H4Cl2

C2H5Oh&C2H5Cl

https://dl.doubtnut.com/l/_B0oOdkMzS9JB
https://dl.doubtnut.com/l/_Od1VBFeFLOXP


12. An organic compound reacts with metallic sodium to liberate

hydrogen and with  solution to liberate . The compound is

A. Alcohol

B. Carboxylic acid

C. Ether

D. An ester

Answer: B

Watch Video Solution

Na2CO3 CO2

13. An organic compound reacts with metallic sodium to liberate

hydrogen and with  solution to liberate . The compound is

A. 

B. 

Na2CO3 CO2

C2H6

CH4

https://dl.doubtnut.com/l/_Od1VBFeFLOXP
https://dl.doubtnut.com/l/_6hCJfSDSTLPx
https://dl.doubtnut.com/l/_af0ZxcdboGMf


C. 

D. 

Answer: B

Watch Video Solution

CH5COONa

CH3CONH2

14. What is the reagent used in the preparation of chloro-acetic acid from

acetic acid

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

PCl5

Cl2 /RedP

PCl3

SOCl2

https://dl.doubtnut.com/l/_af0ZxcdboGMf
https://dl.doubtnut.com/l/_FAT9xym4oxbU
https://dl.doubtnut.com/l/_dTsdZ8P8BhfE


15. In the following reaction X and Y respectively are respectively are X

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Aq .NaOH

−−−−−→ CH3COOH
Y

−−→ (CH3CO)2O

CH3. Cho, PCl5

CH3CN, P2O5

CH3CH2OH, NaOAC

CH3COCH3, H2SO4

16. In the following reaction X and Y respectively

A. 

B. 

C. 

CH3COOH + NH3 → X −−→
Δ

Y + H2O

CH3CONH2, CH4

CH3COONH4, CH3CONH2

CH3CONH2, CH3COOH

https://dl.doubtnut.com/l/_dTsdZ8P8BhfE
https://dl.doubtnut.com/l/_pjsYs9CfJ4FT


D. 

Answer: B

Watch Video Solution

CH3NH2, CH3CONH2

17. In the following reaction X and Y respectively are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

C2H5OH
KMnO4 /H ⊕

−−−−−−−→ X
Y

−−−→
H2SO4

CH3COOC2H5

CH3OH, C2H5OH

CH3CHO, CH3OH

CH2 = CH2, CH3COOH

CH3COOH, C2H5OH

https://dl.doubtnut.com/l/_pjsYs9CfJ4FT
https://dl.doubtnut.com/l/_DcdcCng0dq81


18. Aqueous 10%  solution is used as a reagent for identifying

X'. Which one of the following compounds yields 'X' on hydrolysis?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

NaHCO3

CH3CO2C2H5

C2H5 − O − C2H5

CH3CHO

CH3 − CH2 _ OH

19. Acid hydrolysis of X yields two di�erent organic compounds. Which

one of the following is X ?

A. 

B. 

C. 

CH3CN

CH3CONH2

CH3COOC2H5

https://dl.doubtnut.com/l/_x6CUyZxNhDwr
https://dl.doubtnut.com/l/_NpmO0AlUkNf5


D. 

Answer: C

Watch Video Solution

(CH3CO)2O

20. When compound X is oxidised by acidi�ed potassium dichromate,

compound Y is formed. Compound Y on reduction with gives X.X

and Y respectively are

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

LiAIH4

C2H5OH, CH3COOH

CH3COCH3, CH3COOH

C2H5OH, CH3COCH3

CH3CHO, CH3COOH3

https://dl.doubtnut.com/l/_NpmO0AlUkNf5
https://dl.doubtnut.com/l/_HATRySAOeh54
https://dl.doubtnut.com/l/_TiHGEwDSKQJh


21.   

  

In the above reactions 'A' and 'B' respectively, are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3COOH
LiA1H1

−−−−→ A

A + CH3COOH
HJO

+

−−−→ B + H2O

CH3COOC2H5, C2H5OH

CH3CHO, C2H5OH

C2H5OH, CH3CHO

C2H5OH, CH3COOC2H5

22. Identify X and Y in the following sequence of reaction .

 CH3CHO
HNO3
−−−→ X

P4O10
−−→

Δ
Y

https://dl.doubtnut.com/l/_TiHGEwDSKQJh
https://dl.doubtnut.com/l/_c1ChCpz1yCiv


Watch Video Solution

23. In which of the following reactions hydrogen is not liberated?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3COOH + Na

CH3COOH + NaHCO3

CH3COOH + NaOH

CH3COOH + H2O

https://dl.doubtnut.com/l/_c1ChCpz1yCiv
https://dl.doubtnut.com/l/_MVf5RiXEMKJu


24.  Y in the reaction is

A. Lactic acid

B. Ethylamine

C. Propylamine

D. Amino acid

Answer: D

Watch Video Solution

CH3CH2COOH
Br2

−−→
Red P

X
NH3

−−−→
alcohol

Y

25. . Hence 'C' is

A. Oxalic acid

B. Maleic acid

C. Fumaric acid

D. Malonic acid

CH3COOH
1 moleCl2 / RedP
−−−−−−−−−→ A

KCN
−−→ B

H + /H2O

−−−−−→ C

https://dl.doubtnut.com/l/_gITplSVqI5Ws
https://dl.doubtnut.com/l/_J7WNlqyjTXVx


Answer: D

Watch Video Solution

26. . Here 'B' is

A. Succinic acid

B. Lactic acid

C. Picric acid

D. Malonic acid

Answer: B

Watch Video Solution

CH3CH2COOH
Cl2 / RedP
−−−−−→ A

aq. KOH
−−−−→ B

27. Benzoic acid gives benzene on being heated with X and Phenol gives

benzene on being heated with Y therefore X and Y are respectively

https://dl.doubtnut.com/l/_J7WNlqyjTXVx
https://dl.doubtnut.com/l/_U7bj9kNWBFej
https://dl.doubtnut.com/l/_5iNnTXGLsAVD


A. Sodalime and copper

B. Zincdust and sodium hydroxide

C. Zinc dust and Sodalime

D. Sodalime and Zinc dust

Answer: D

Watch Video Solution

28. On vigorous oxidation by permanganate solution

 gives

A. 

B. 

C. 

(CH3)2C = CH − CH2CH3

CH3 −

OH

∣

C
∣

CH3

−

OH

∣

C H − CH2CH3

https://dl.doubtnut.com/l/_5iNnTXGLsAVD
https://dl.doubtnut.com/l/_kWtljQC9kKm2


D. 

Answer: D

Watch Video Solution

29. Identify C in the following reaction :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

C2H2
Chromic acid
−−−−−−−→ A

NH3
−−→ B

Δ
−−−→
−H2O

C

CH3CH2NH2

CH3CN

CH3CH2NHCH3

CH3 −

O

∣ ∣

C − NH2

https://dl.doubtnut.com/l/_kWtljQC9kKm2
https://dl.doubtnut.com/l/_aW0iTUWGF6Fr
https://dl.doubtnut.com/l/_xRlaI13VjBmJ


30.  . In the above reaction A and B are

respectively

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3CN + H2O
H +

−−→ A
ExcessCl2
−−−−−→

Red P
B

CH3COOH, CCl3COOH

CH3CH2OH, CH3CH2Cl

CH3CHO, CCl3CHO

CH3COCH3, CCl3COCH3

31. Identify A and B in the following reaction ,

  CH3CH3
B

←−− CH3COOH
Δ

−−→ CH3CH2OH

https://dl.doubtnut.com/l/_xRlaI13VjBmJ
https://dl.doubtnut.com/l/_ihFYDQYyojCf


Level I Exercise Ii Acidic Nature

Watch Video Solution

1. In the  the two carbon-oxygen bonds are found to be of equal

length. What is the reason for it ?

A. The anion  has two equivalent resonating structures

B. The anion is obtained by removal of a proton from the acid

molecule

C. Electronic orbitals of carbon atom are hybridised

D. The C=O bond is weaker than the C-O bond

HCOO−

HCOO−

https://dl.doubtnut.com/l/_ihFYDQYyojCf
https://dl.doubtnut.com/l/_olQ4naCLCNiD


Answer: A

Watch Video Solution

2. Among the following acids which has the lowest  value

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

pKa

CH3COOH

HCOOH

(CH2)2CH − COOH

CH3CH2COOH

3. Which of the following has highest tendency to ionise in aqueous

solution.

https://dl.doubtnut.com/l/_olQ4naCLCNiD
https://dl.doubtnut.com/l/_XuEJtxfJdmME
https://dl.doubtnut.com/l/_vvWTDeT6Hwvq


A. HCOOH

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3COOH

FCH2COOH

BrCH2COOH

4. Which acid has lowest value of  ?

A. p-Methoxybenzoic acid

B. p-Chlorobenzoic acid

C. p-Aminobenzoic acid

D. p-Toluic acid

Answer: B

Watch Video Solution

pKa

https://dl.doubtnut.com/l/_vvWTDeT6Hwvq
https://dl.doubtnut.com/l/_stYPHTjPyrS6


5. Which of the following anion is a strongest base ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

C6H5COO
−

HCOO−

CH3COO
−

(CH3)2CHCOO−

6. Which of the followign statements are correct ?

A. the two carbon-oxygen bond lengths in molecular formic acid are

di�erent

B. the two carbon -oxygen bond length in sodium formate are equal

https://dl.doubtnut.com/l/_stYPHTjPyrS6
https://dl.doubtnut.com/l/_mqMN6ne4CIjv
https://dl.doubtnut.com/l/_7xdzAkilpJkK


C. very partial resonance is there in formic acid

D. all of the above

Answer: B

Watch Video Solution

7. Among acetic acid , phenol and n-hexanol, which of the compounds will

react with  solution to give sodium salt and 

A. acetic acid

B. phenol

C. n-hexanol

D. acetic acid and phenol

Answer: A

Watch Video Solution

NaHCO3 CO2

https://dl.doubtnut.com/l/_7xdzAkilpJkK
https://dl.doubtnut.com/l/_zzSqdpRJtj6A
https://dl.doubtnut.com/l/_1xOgAXfHQhlh


8.  is less acidic than HCOOH. It is due to which e�ect

A.  of Methyl group

B.  of Methyl group

C.  of Methyl group

D. None

Answer: A

Watch Video Solution

CH3COOH

+I

+M

−I

9. What is the main reason for the fact that carboxylic acids can undergo

ionisation.

A. Absence of  - hydrogen

B. Resonance stabilisation of the carboxylate ion

C. High reactivity of  - Hydrogen

D. Hydrogen bonding

α

α

https://dl.doubtnut.com/l/_1xOgAXfHQhlh
https://dl.doubtnut.com/l/_IWRh3SPN3xYp


Answer: B

Watch Video Solution

10. The reagent that can be used to distinguish between phenol and

ethanoic acid is

A. Ammoniacal silver nitrate solution

B. Fehling solution

C. Sodium carbonate solution

D. Phenolphthalein

Answer: C

Watch Video Solution

11. A liquid was mixed with ethanol and a drop of concentrated 

was added. A compound with a fruity smell was formed. The liquid was:

H2SO4

https://dl.doubtnut.com/l/_IWRh3SPN3xYp
https://dl.doubtnut.com/l/_HOJDenZhD954
https://dl.doubtnut.com/l/_6y7nTPYu0qkp


A. HCHO

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3COCH3

CH3COOH

CH3OH

12. Which of the following is not useful to convert  into 

A. 

B. 

C. 

D. 

Answer: D

CH3COOH

CH3COCI

PCl5

PCl3

SOCl2

SO2Cl2

https://dl.doubtnut.com/l/_6y7nTPYu0qkp
https://dl.doubtnut.com/l/_7nxjmT52WQZk


Watch Video Solution

13. Which of the following compounds liberate  on reaction with

acetic acid

A. 

B. 

C. 

D. All the above

Answer: D

Watch Video Solution

CO2

Na2CO3

KHCO3

CaCO3

14. Acetic acid is converted into acetic anhydride by heating with

A. 

B. 

P2O5

NaOH

https://dl.doubtnut.com/l/_7nxjmT52WQZk
https://dl.doubtnut.com/l/_x9pvl8cxVKJY
https://dl.doubtnut.com/l/_aSbdFrJ1BCIL


C. 

D. any of the above

Answer: A

Watch Video Solution

NH4OH

15.  . Which

sequence of reaction is 'X' .

A. 

B. 

https://dl.doubtnut.com/l/_aSbdFrJ1BCIL
https://dl.doubtnut.com/l/_cRgzkAgtdWCt


C. 

D. 

Answer: C

Watch Video Solution

16. Which of the following is the correct order of acetic strength of

Benzoic acid (I), 4-nitrobenzoic acid (II), 3,4-dinitrobenzoic acid (III), 4-

methoxy-benzoic acid (IV)

A. 

B. 

C. 

D. 

I > II > III > IV

III > IV > I > II

III > II > I > IV

III > II > IV > I

https://dl.doubtnut.com/l/_cRgzkAgtdWCt
https://dl.doubtnut.com/l/_BwBSCttRyUg7


Answer: C

Watch Video Solution

17.   

Which sequence of reactions will be useful for above conversion.

A.  Conc 

B. Conc 

C.  Conc 

D. Conc 

Answer: C

Watch Video Solution

CH3Cl, AlCl3, HNO3&H2SO4, KMnO4

HNO3&H2SO4, CH3Cl&AlCl3, KMnO4

CH3Cl, AlCl3, KMnO4, HNO3&H2SO4

HNO3&H2SO4, KMnO4, CH3Cl, AlCl3

https://dl.doubtnut.com/l/_BwBSCttRyUg7
https://dl.doubtnut.com/l/_1gmtAcJ8ABca


Level Ii Lexture Sheet Exericse I Single Or More Than One Option Questions

18. Which of the following compounds will undergo decarboxylation on

heating ? 

A. 2& 3

B. 3 &4

C. 3 only

D. 1 & 4

Answer: C

Watch Video Solution

1. The increasing order of acidity :

https://dl.doubtnut.com/l/_1gmtAcJ8ABca
https://dl.doubtnut.com/l/_7Q0yDMvEN3LW
https://dl.doubtnut.com/l/_hX3qCcU6KDSh


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3COOH < ClCH2COOH < HCOOH

ClCH2COOH < CH3COOH < HCOOH

ClCH2COH < HCOOH < CH3COOH

CH3COOH < HCOOH < ClCH2COOH

2. Which of the following is the weakest acid ?

A. 

B. 

C. 

D. 

Answer: B

HCOOH

CH3COOH

https://dl.doubtnut.com/l/_hX3qCcU6KDSh
https://dl.doubtnut.com/l/_xy8f65PNR9PM


Watch Video Solution

3. Formic acid is obtained when

A.  is oxidised with 

B. Glycerol is heated with oxalic acid

C.  Ca is heated with conc. 

D.  Ca is heated with 

Answer: B

Watch Video Solution

CH3CHO K2Cr2O7 and H2SO4

(CH3COO)2 H2SO4

(HCOO)2 (CH3COO)2Ca

4. Acetic acid can be prepared by:

A. oxidizing  with 

B. heating glycerol with concentrated 

C. oxidizing  with 

CH3CHO K2Cr2O7 and H2SO4

H2SO4

CH3OH KMnO4

https://dl.doubtnut.com/l/_xy8f65PNR9PM
https://dl.doubtnut.com/l/_oyjuOOaVwj4A
https://dl.doubtnut.com/l/_cZi5biZsMjsW


D. distilling a mixture of calcium acetate and calcium formate

Answer: A

Watch Video Solution

5. When acetamide is hydrolysed by boiling with water the product

obtained is :

A. ethyl alcohol

B. ethyl amine

C. acetaldehyde

D. acetic acid

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_cZi5biZsMjsW
https://dl.doubtnut.com/l/_zfd4ez0bb7MA


6. The compound formed by the acid hydrolysis of ethyl acetate is :

A. formic acid and propanol

B. acetic acid and ethyl alcohol

C. ethanol and ethyl alcohol

D. ethyl alcohol and acetone

Answer: B

Watch Video Solution

7.  can be converted into . The

correct sequence of reagents is :

A. 

B. 

C. 

D. 

R − CH2 − CH2OH RCH2CH2COOH

PBr3, KCN, H +

HCN, PBr3, H +

KCN, H +

PBr3, KCN, H2

https://dl.doubtnut.com/l/_uxLVdlSmuyS2
https://dl.doubtnut.com/l/_a68WYdThs2EJ


Answer: A

Watch Video Solution

8. Optical activity is expected for :

A. 2-chloropropanoic acid

B. 2-methyl propanoic acid

C. methyl-2-chloropropanoate

D. methyl-2-methyl propanoate

Answer: A::C

Watch Video Solution

9. Formic acid gives the test of :

A. Aldehydic group

https://dl.doubtnut.com/l/_a68WYdThs2EJ
https://dl.doubtnut.com/l/_NAiFsqIJp0ex
https://dl.doubtnut.com/l/_VPhsGbte5CTs


B. Ketonic group

C. Carboxylic group

D. Alcoholic group

Answer: A::C

Watch Video Solution

10. Which of the following reagents is useful to distinguish between

HCOOH and 

A. Fehling's solution

B. Potassium permanganate solution

C. Tollen's reagent

D. Iodoform reaction

Answer: A::B::C

Watch Video Solution

CH2COOH

https://dl.doubtnut.com/l/_VPhsGbte5CTs
https://dl.doubtnut.com/l/_c5qSlM0ZfjyE


11. 

A. The product formed is 

B. The name of this reaction is Hell-Vohlard Zelinsky reaction

C. The �rst compound formed is 

D. There is exchange of OH and Br between

Answer: A::B::C::D

Watch Video Solution

CH3CH2COOH + Br2
Red phosphrous
−−−−−−−−→

CH3C
∣
Br

H − COOH

CH3CH2COBr

CH3CH(Br)COBr and CH3CH2COOH

12. Which of the following functional group(s) when attached to the para

position of benzoic acid will increase the acidic strength ?

A. 

B. 

−OCH3

−Cl

https://dl.doubtnut.com/l/_c5qSlM0ZfjyE
https://dl.doubtnut.com/l/_bMS1h7CnapvO
https://dl.doubtnut.com/l/_gygN7SPwDpsV


C. 

D. 

Answer: B::C

Watch Video Solution

−NO2

−OH

13. In which of the following compounds carbon oxygen bond length is

shorter than others

A. 

B. 

C. 

D. All carbon-oxygen bond lengths are equal

Answer: C

Watch Video Solution

RCOOH

ROH

RCOCH3

https://dl.doubtnut.com/l/_gygN7SPwDpsV
https://dl.doubtnut.com/l/_ZuTkq0IidA55
https://dl.doubtnut.com/l/_gA0gWUytA9hN


14. Which of the following acids is the strongest

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3CH2COOH

CH2 = CHCOOH

CH ≡ CCOOH

CH3COOH

15. Which of the following is/are correct regarding acidic strength.

A. 

B. 

C. 

D. 

CH3COOH > CH3COOOH

ClCH2COOH > BrCH2COOH

O2N − CH2COOH > NC − CH2COOH

HCOOH > CH3COOH

https://dl.doubtnut.com/l/_gA0gWUytA9hN
https://dl.doubtnut.com/l/_FpONjcJ7ic4c


Answer: A::B::C::D

Watch Video Solution

16. Which of the following statements is correct regarding the hydrolysis

of an ester

A. Base catalysed - IInd order

B. Acid catalysed - Ist order

C. Acid catalysed - reversible

D. Base catalysed - Irreversible

Answer: A::B::C::D

Watch Video Solution

https://dl.doubtnut.com/l/_FpONjcJ7ic4c
https://dl.doubtnut.com/l/_8KmRp65hRYeM


17.  The

Product is

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_E7fXBWw2Wg9W


Answer: A

Watch Video Solution

18. Which of the following reactions is correct.

A. 

B. 

C. 

D. 

Answer: A::B::C

Watch Video Solution

19. Which of the following esters is hydrolysed at a fastest rate than other

(Base catalysed)

https://dl.doubtnut.com/l/_E7fXBWw2Wg9W
https://dl.doubtnut.com/l/_3HWuJG9ru9AF
https://dl.doubtnut.com/l/_t4wRIuNdv8d3


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_t4wRIuNdv8d3


20. Which of the following esters undergo alkaline hydrolysis at a fastest

rate

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3COOCH3

CH3COOC2H5

CH3COOCH(CH3)2

CH3COOC(CH3)3

21. Which of the following reactions is/are correctly represented

A. 

B. 

https://dl.doubtnut.com/l/_t4wRIuNdv8d3
https://dl.doubtnut.com/l/_WsZAbB1qNpvI
https://dl.doubtnut.com/l/_Pt9BEaKpOt3e


Level Ii Lexture Sheet Exericse Ii Linked Comprehension Type Questions

C. 

D. 

Answer: A::B::C::D

Watch Video Solution

1. An organic compound  yields(B) when treated with aq.

KOH. (B) upon treatment with  in presence of acid gave (C)

which upon reducing with  gave (D) and (E). (B) upon treatment

with  followed by heating with  and subsequent hydrolysis

gives back(B). Sodium salt of (B) on Kolbe's electrolysis gave 2, 3-

dimethylbutane at anode. 

Compound (B) can also be obtained by

A(C4H7C13)

C2H5OH

LiAIH4

NH3 P4O10

https://dl.doubtnut.com/l/_Pt9BEaKpOt3e
https://dl.doubtnut.com/l/_wUefBswBB85O


A. catalysed  hydration of 1-butone

B. reduction of  with 

C. oxidative cleavage of 4-methyl-2-pentene

D. All the above

Answer: C

Watch Video Solution

(HgSO4)

CH3 −

OH

∣

C H −

O

∣ ∣

COC2H5 LiAIH4

2. An organic compound  yields(B) when treated with aq.

KOH. (B) upon treatment with  in presence of acid gave (C)

which upon reducing with  gave (D) and (E). (B) upon treatment

with  followed by heating with  and subsequent hydrolysis

gives back(B). Sodium salt of (B) on Kolbe's electrolysis gave 2, 3-

dimethylbutane at anode. 

Structural formula of compound (C) is

A. 

A(C4H7C13)

C2H5OH

LiAIH4

NH3 P4O10

CH3 −

CH3

∣

C HCOOC2H5

https://dl.doubtnut.com/l/_wUefBswBB85O
https://dl.doubtnut.com/l/_g99iQKdJAThV


B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3 − CH2 − CH2COOC2H5

CH3 − CH2 −

C2H5

∣

C H − COOH

CH3 −

CH2

∣

C H − COO

CH3

∣

C H − CH3

3. An organic compound  yields(B) when treated with aq.

KOH. (B) upon treatment with  in presence of acid gave (C)

which upon reducing with  gave (D) and (E). (B) upon treatment

with  followed by heating with  and subsequent hydrolysis

gives back(B). Sodium salt of (B) on Kolbe's electrolysis gave 2, 3-

dimethylbutane at anode. 

Compound (D) and (E) respectively are

A. 

B. 

A(C4H7C13)

C2H5OH

LiAIH4

NH3 P4O10

CH3CH2CH2OH, C2H5OH

CH3 − C
∣

CH3

HCH2OH, C2H5OH

https://dl.doubtnut.com/l/_g99iQKdJAThV
https://dl.doubtnut.com/l/_bXGUCN2p1GEM


C. 

D. 

Answer: B

Watch Video Solution

CH3CH2CH2CH2OH, C2H5OH

CH3 − C
∣

CH3

HCH2 ∘ − OCH3, CH3OH

4. The oxidation of aryl methyl or cyclo alkyl methyl by the treatment with

chromyl chloride to an aldehyde via the formation of esters is known as

Etard reaction. The oxidation stops at aldehyde stage because the

product of the reaction is acylal,  which is

resistance to oxidation with this reagent. The acylal on hydrolysis gives

aldehyde. 

 

R − CH(OCOCH3)2

https://dl.doubtnut.com/l/_bXGUCN2p1GEM
https://dl.doubtnut.com/l/_ruiIKnEOQbCe


What is the product obtained when ethyl benzene is subjected to Etard

reaction ?

A. Methyl phenyl ketone

B. 2 - Phenyl ethanal

C. Benzoic acid

D. 2-Phenyl ethanoic acid

Answer: B

Watch Video Solution

5. The oxidation of aryl methyl or cyclo alkyl methyl by the treatment with

chromyl chloride to an aldehyde via the formation of esters is known as

Etard reaction. The oxidation stops at aldehyde stage because the

product of the reaction is acylal,  which is

resistance to oxidation with this reagent. The acylal on hydrolysis gives

aldehyde. 

R − CH(OCOCH3)2

https://dl.doubtnut.com/l/_ruiIKnEOQbCe
https://dl.doubtnut.com/l/_BFKPV9n3iX6o


 

Which of the other reactions will produce benzaldehyde ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_BFKPV9n3iX6o


6. The oxidation of aryl methyl or cyclo alkyl methyl by the treatment with

chromyl chloride to an aldehyde via the formation of esters is known as

Etard reaction. The oxidation stops at aldehyde stage because the

product of the reaction is acylal,  which is

resistance to oxidation with this reagent. The acylal on hydrolysis gives

aldehyde. 

 

Which of the following compounds give benzo-phenone upon treating

with  ?

A. 

B. 

R − CH(OCOCH3)2

CrO2Cl2

https://dl.doubtnut.com/l/_jNpvZwEeMFEp


Level Ii Lexture Sheet Exericse Iii Match The Following Questions

C. 

D. none of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_jNpvZwEeMFEp


1. Match the following question 

Watch Video Solution

2. Match the following question 

Watch Video Solution

https://dl.doubtnut.com/l/_wjM4ABAXdX0R
https://dl.doubtnut.com/l/_KtGWDrKUPney


3. Match the following question 

Watch Video Solution

4. Match the following question 

Watch Video Solution

https://dl.doubtnut.com/l/_KtGWDrKUPney
https://dl.doubtnut.com/l/_RhkT9CMcClDf
https://dl.doubtnut.com/l/_BtacdJ3sgILw


5. Di�erent possible thermal decomposition pathwasy for peroxyesters

are shown below. Match each pathway from List-I with an appropriate

structure from List-II and select the correct answer using the code given

below the lists 

 

A. 
A B C D

p r s q

https://dl.doubtnut.com/l/_BtacdJ3sgILw
https://dl.doubtnut.com/l/_DSHeuQ8hQCcU


Level Ii Lexture Sheet Exericse Iv Integer Answer Type Questions

B. 

C. 

D. 

Answer: A::B::C::D

Watch Video Solution

A B C D

q s r p

A B C D

s p q r

A B C D

r q p s

1. No of positional isomers possible for benzene dicarboxylic acid

Watch Video Solution

2. Fructose is oxidised by periodic acid . The number of moles of

HCOOH formed from each mole of fructose are

Watch Video Solution

[HIO4]

https://dl.doubtnut.com/l/_DSHeuQ8hQCcU
https://dl.doubtnut.com/l/_53geLYWVO46M
https://dl.doubtnut.com/l/_ksyZ56KTgFte


3. The number of isomeric carboxylic acids possible for the formula

 are respectively.

Watch Video Solution

C4H8O2

4. The number of hydroxyl groups present in tartaric acid are

Watch Video Solution

5. During the reaction between formic acid & . The equivalent

weight of  obtained by dividing it's molecular weight by a _______

factor

Watch Video Solution

KMnO4

KMnO4

https://dl.doubtnut.com/l/_iMIFEHhptD3S
https://dl.doubtnut.com/l/_MWF5bPGw1gkY
https://dl.doubtnut.com/l/_Jm9IkP1tjyXN


6.  No. of 

hybridised carbons in compound (B)

Watch Video Solution

sp2

7. Benzoic acid  product Number of  hybridised

atoms in product

Watch Video Solution

( 1 )NH3 / heat
−−−−−−−−−−−−→
( 2 )KOH +Br2 / heat

sp2

8. Acid chlorides are converted in to  alcohols with grignand reagent.

During this convertion number of moles of grignand reagent are used

Watch Video Solution

3∘

https://dl.doubtnut.com/l/_vmBpmKHuzHPQ
https://dl.doubtnut.com/l/_yLVIZbzfLhWV
https://dl.doubtnut.com/l/_mxJyMEMxcqaR


Practice Sheet 1 Single Answer Questions

9. The total number of carboxylic acid group in the product P is 

Watch Video Solution

1. Oxidation of  with hot alkaline 

gives

A. 

B. 

C. 

D. 

(CH3)2C − CHCH2CH3 KMnO4

(CH3) − C
∣
OH

H − CH3&CH3CH2CH2OH

(CH3)2C = O&CH3CH2COOH

(CH3)2CHCOOH&CH3CH2COOH

(CH3)2C(OH)CH(OH)CH2CH3

https://dl.doubtnut.com/l/_VfcKREt73JWp
https://dl.doubtnut.com/l/_kg9upHtRYq1g


Answer: B

Watch Video Solution

2. The calcium salt of which of the following acids on dry distillation

produces 2,4 - dimethyl pentane - 3 - one ?

A. isobutyric acid

B. adipic acid

C. butyric acid

D. propionic acid

Answer: A

Watch Video Solution

3. Acetaldehyde  Z : In the above, sequence , the

end product Z is

HCN
−−→ X −−−−−→

H2O/H +
Y

Heat
−−→

https://dl.doubtnut.com/l/_kg9upHtRYq1g
https://dl.doubtnut.com/l/_PLYYCeUhLLis
https://dl.doubtnut.com/l/_eJI4dTbkBPf7


A. but-2-enoic acid

B. prop-2-enoic acid

C. tartaric acid

D. lactic acid

Answer: B

Watch Video Solution

4. The compound obtained by reaction of CO with NaOH followed by

nutralisation with dil. 

A. 

B. 

C. 

D. 

Answer: B

H2SO4

HCOONa

HCOOH

COOH

∣

COOH

CH3COOH

https://dl.doubtnut.com/l/_eJI4dTbkBPf7
https://dl.doubtnut.com/l/_DFAsnbleUFJ3


Watch Video Solution

5. Which of the following has highest solubility in water

A. acetic acid

B. isobutyric acid

C. n-butyric acid

D. propionic acid

Answer: A

Watch Video Solution

6.  the product (C) will be ?

A. 

B. 

C. 

CH3OH
PCl5
−−→ (A)

KCN
−−→ (B)

H3O
+

−−−→ (C)

CH3CONH2

CH3 − CH2OH

HCOOH

https://dl.doubtnut.com/l/_DFAsnbleUFJ3
https://dl.doubtnut.com/l/_h7ikkYkrhfdg
https://dl.doubtnut.com/l/_p9xISHcuQTtj


D. 

Answer: D

Watch Video Solution

CH3COOH

7. The end product (C) in the following sequence of reactions, 

 The compound 'C' is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3Cl
KCN
−−→ (A)

H + /H2O

−−−−−→ (B)
P4O10
−−→

Δ
(C)

(CH3CO)2O

CH3COOCH2

CH3COOH

CH3COCH3

https://dl.doubtnut.com/l/_p9xISHcuQTtj
https://dl.doubtnut.com/l/_gftgDlhFru6B


8. Which of the following is optically active

A. 2-hydroxypropanoic acid

B. 2-oxypropanoic acid

C. 2-hydroxyethanoic acid

D. Both b & c

Answer: A

Watch Video Solution

9. In the series of reaction  the

product C is :

A. ammonium acetate

B. methane

C. acetonitrile

D. methanol

CH3COOH
NH3

−−→ A
Δ

−−→ B
P2O3

−−→ C

https://dl.doubtnut.com/l/_HUJkTYJPO8Vb
https://dl.doubtnut.com/l/_LMB3OjN3Y5fV


Answer: C

Watch Video Solution

10. Which of the following anions is not stabilised by resonance

A. 

B. 

C. 

D. All the above

Answer: A

Watch Video Solution

CH2 = CH − CHO−

C6H5
¯̄̄O

C6H5CO
¯̄̄O

11.   

The major product which can be isolated from this reaction is

https://dl.doubtnut.com/l/_LMB3OjN3Y5fV
https://dl.doubtnut.com/l/_8PrHj9HtrYRV
https://dl.doubtnut.com/l/_jJSu7lv4MH6i


Practice Sheet 1 More Than One Correct Answer Questions

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1. Which of the following compounds undergo nucleophilic substitution

reaction

https://dl.doubtnut.com/l/_jJSu7lv4MH6i
https://dl.doubtnut.com/l/_rxmUytJgDAhO


A. 

B. 

C. 

D. 

Answer: A::B

Watch Video Solution

CH3COCl

CH3COOC2H5

CH3COCH3

CH3COCH2CH3

2. Which of the following will be able to produce acetyl chloride by its

reaction with acetic acid ?

A. 

B. 

C. 

D. 

Answer: A::B::D

PCl3

PCl5

Cl2

SOCl2 /Py

https://dl.doubtnut.com/l/_rxmUytJgDAhO
https://dl.doubtnut.com/l/_7EIq1iTEr6aM


Watch Video Solution

3. Acetyl chloride is reduced to acetaldehyde by

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

LiAIH4

H2 /Pd − BaSO4

H2 /Ni

Na − C2H5OH

4. Which of the following compounds will give ethyl alochol on reduction

with  ?

A. 

B. 

LiAlH4

(CH3CO)2O

CH3COCl

https://dl.doubtnut.com/l/_7EIq1iTEr6aM
https://dl.doubtnut.com/l/_kGNZCEGfCI5V
https://dl.doubtnut.com/l/_k8rqTMw2RQ8M


C. 

D. 

Answer: A::B::D

Watch Video Solution

CH3CONH2

CH3COOC2H5

5. Benzophenone is oxidised by peroxyacetic acid followed by acid

catalysed hydrolysis to give two products (A) and (B) . Identify the

products (A) and (B)

A. (A) is benzoic acid

B. (B) is phenol

C. (A) is acetic acid

D. (B) is methanol

Answer: A::B

Watch Video Solution

https://dl.doubtnut.com/l/_k8rqTMw2RQ8M
https://dl.doubtnut.com/l/_LvbQQJc7IRRg


Practice Sheet 1 Linked Comprehension Type Questions

1. An organic compound (A) of molecular weight 135 on boiling with NaOH

evolves a gas which gives white dense fumes on bringing a rod dipped in

HCl near it. The alkaline solution thus obtained on acidi�cation gives the

precipitate of a compound (B) having molecular weight 136. Treatment of

(A) with  also yeilds (B), whereas its treatment with 

gives (C). compound (C) reacts with cold  to give(D), which gives

red colour with ceric ammonium nitrate. On the other hand(E) an isomer

of (A) on boiling with dil HCl gives an acid (F), having molecular weight

136. On oxidation followed by heating, (F) gives an anhydride (G) which

condenses with benzene in presence of  to give anthraquinone.  

Structrual formula of compound (A) is

A. 

B. 

HNO2 Br2 /KOH

HNO2

AlCl3

https://dl.doubtnut.com/l/_LvbQQJc7IRRg
https://dl.doubtnut.com/l/_49XcDkJvv2Wp


C. 

D. 

Answer: C

Watch Video Solution

2. An organic compound (A) of molecular weight 135 on boiling with

NaOH evolves a gas which gives white dense fumes on bringing a rod

dipped in HCl near it. The alkaline solution thus obtained on acidi�cation

gives the precipitate of a compound (B) having molecular weight 136.

Treatment of (A) with  also yeilds (B), whereas its treatment with 

 gives (C). compound (C) reacts with cold  to give(D),

which gives red colour with ceric ammonium nitrate. On the other

hand(E) an isomer of (A) on boiling with dil HCl gives an acid (F), having

molecular weight 136. On oxidation followed by heating, (F) gives an

anhydride (G) which condenses with benzene in presence of  to

HNO2

Br2 /KOH HNO2

AlCl3

https://dl.doubtnut.com/l/_49XcDkJvv2Wp
https://dl.doubtnut.com/l/_cinWZK6bRDkE


give anthraquinone. 

IUPAC name of compound (B) is

A. p-methylbenzoic acid

B. 2-phenylethanoic acid

C. methyl benzoate

D. none of these

Answer: B

Watch Video Solution

3. An organic compound (A) of molecular weight 135 on boiling with

NaOH evolves a gas which gives white dense fumes on bringing a rod

dipped in HCl near it. The alkaline solution thus obtained on acidi�cation

gives the precipitate of a compound (B) having molecular weight 136.

Treatment of (A) with  also yeilds (B), whereas its treatment with 

 gives (C). compound (C) reacts with cold  to give(D),

which gives red colour with ceric ammonium nitrate. On the other

HNO2

Br2 /KOH HNO2

https://dl.doubtnut.com/l/_cinWZK6bRDkE
https://dl.doubtnut.com/l/_k0lPURrzZvZt


hand(E) an isomer of (A) on boiling with dil HCl gives an acid (F), having

molecular weight 136. On oxidation followed by heating, (F) gives an

anhydride (G) which condenses with benzene in presence of  to

give anthraquinone. 

Structural formula of compound (C) is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

AlCl3

C6H5CH2NH2

https://dl.doubtnut.com/l/_k0lPURrzZvZt


4. Compound  on reaction with one equivalent of 

 gave  B gives codoform reaction and the other

product form in this reaction C which on acidi�cation gave .

Further B on oxidation gave . Both D and E liberate  on

reaction with . 

The compound 'B' is

A. 

B. 

C. 

D. 

Answer: A

A(C8H7OCl)

CH3MgBr B(C9H10O)

D(C8H8O2)

E(C7H6O2) CO2

NaHCO3

https://dl.doubtnut.com/l/_abj8Q9IMWsfc


Watch Video Solution

5. Compound  on reaction with one equivalent of 

 gave  B gives codoform reaction and the other

product form in this reaction C which on acidi�cation gave .

Further B on oxidation gave . Both D and E liberate  on

reaction with . 

The compound 'B' is

A. 

B. 

C. 

A(C8H7OCl)

CH3MgBr B(C9H10O)

D(C8H8O2)

E(C7H6O2) CO2

NaHCO3

https://dl.doubtnut.com/l/_abj8Q9IMWsfc
https://dl.doubtnut.com/l/_0hr3lc7leQOm


D. 

Answer: B

Watch Video Solution

6. Compound  on reaction with one equivalent of 

 gave  B gives codoform reaction and the other

product form in this reaction C which on acidi�cation gave .

Further B on oxidation gave . Both D and E liberate  on

reaction with . 

The compound 'A' is

A. 

A(C8H7OCl)

CH3MgBr B(C9H10O)

D(C8H8O2)

E(C7H6O2) CO2

NaHCO3

https://dl.doubtnut.com/l/_0hr3lc7leQOm
https://dl.doubtnut.com/l/_28BYZ8AIXspj


Practice Sheet 1 Matching Type Questions

B. 

C. 

D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_28BYZ8AIXspj


Practice Sheet 1 Interger Type Questions

1. Match type Questions 

Watch Video Solution

2. Match type Questions 

Watch Video Solution

https://dl.doubtnut.com/l/_9LNA5wrmnoZI
https://dl.doubtnut.com/l/_3MsJYT4SiX0S


1. Total number of acids and esters possible for  is :

Watch Video Solution

C4H8O2

2. How many of the acids given below are more acidic than ,  

Watch Video Solution

CH3COOH

ClCH2COOH, O2N − CH2COOH, CH3CH2COOH, CH3OCH2COOH,

3. How many of the following are more acidic than benzoic acid 

Watch Video Solution

https://dl.doubtnut.com/l/_x0yNDacEckmg
https://dl.doubtnut.com/l/_7vUOMj9AYwAV
https://dl.doubtnut.com/l/_H7FB9jPEMfa4


4. How many of the following compounds on oxidation give benzoic acid 

 

Watch Video Solution

5.   

How many moles of  react with compound 'A' to form salt.

W h Vid S l i

NaHCO3

https://dl.doubtnut.com/l/_enp9tbLXTxrS
https://dl.doubtnut.com/l/_PeSeOnWI9rsU


Practice Sheet 2 Single Answer Questions

Watch Video Solution

6. How many of the following reagents is useful to distinguish between

formic acid and acetic acid , NaOH, Tollen's reagent, Fehlings

solution , alk,  , Metallic sodium , 

Watch Video Solution

NaHCO3

KMnO4 I2 /NaOH

7. Number of reasonance structure for  is

Watch Video Solution

HCO¯̄̄O

1. In the reaction  B is

A. Lactic acid

B. 

CH3CH2COOH
RedP
−−→
Cl2

A
NaOH ( aq )
−−−−−−→ B

CH3CH2COCl

https://dl.doubtnut.com/l/_PeSeOnWI9rsU
https://dl.doubtnut.com/l/_YubgjkpQtdr2
https://dl.doubtnut.com/l/_se3MLsPkH8L4
https://dl.doubtnut.com/l/_Hi2zqjzdG2mH


C. hexanoic acid

D. acrylic acid

Answer: A

Watch Video Solution

2. Which of the following will be higly ionized in water ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3CCl2COOH

CH3CH2CHClCOOH

CH2ClCH2CH2COOH

CH3CHClCH2COOH

https://dl.doubtnut.com/l/_Hi2zqjzdG2mH
https://dl.doubtnut.com/l/_zQykUkNgaOzp


3. Hydrolysis of an ester gives acid A and alcohol B. The acid reduces

Fehling's solution. Oxidation of alcohol B gives acid, A. The ester is

A. methyl acetate

B. methyl formate

C. ethyl acetate

D. ethyl oxalate

Answer: B

Watch Video Solution

4. The most suitable reagent to separate a mixture of an aldehyde and

carboxylic acid can be

A. 

B. 

C. 

NaHSO3

NaHCO3

NH3

https://dl.doubtnut.com/l/_QpAndiOosse6
https://dl.doubtnut.com/l/_rRmF9fAotHBx


D. 

Answer: B

Watch Video Solution

HCl

5. Which of the following will give while precipitate with mercuric chloride

?

A. 

B. 

C. Pyruvic acid

D. HCOOH

Answer: D

Watch Video Solution

CH3COOH

CH2 = CHCOOH

https://dl.doubtnut.com/l/_rRmF9fAotHBx
https://dl.doubtnut.com/l/_KKw3VwlomUJ5


6.  What is B

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3CH2COOH
Cl

−−→
Red P

A
Alc .KOH
−−−−−→ B

CH3CH2CHO

ClCH2CH2COOH

CH3CH3CH2COCl

CH2 = CHCOOH

7. When acetic acid is heated with  then which compound will be

formed ?

A. 

B. 

C. 

D. 

P2O5

(CH3CO)2O

CH3COCH3

CH3CHO

CH4

https://dl.doubtnut.com/l/_JpOzxhjqs71V
https://dl.doubtnut.com/l/_3100vuwEBVEC


Answer: A

Watch Video Solution

8.  

Which statement is not correct ?

A. (F) & (A) are same

B. (C) & (E) are same & can be converted into (A) by /Heat

C. (D) & (A) are same & can be converted into (C) by 

D. all are correct

Answer: C

Watch Video Solution

NH3

H3O
+

https://dl.doubtnut.com/l/_3100vuwEBVEC
https://dl.doubtnut.com/l/_sAnYTHjrm5vh
https://dl.doubtnut.com/l/_KO8auSbXfOqf


9. Which of the following compounds is formed on addition of HBr to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH2 = CH − CH2 − COOH

CH3C
∣
Br

H − CH2COOH

BrCH2 − CH2 − CH2COOH

CH3 − CH2 − C
∣
Br

H − COOH

CH2 = CH − CH2COBr

10. Which of the following reactions does not give a product

A. 

B. 

C. 

D. 

CH3COCl + NH3

CH3COCl + RNH2

CH3COCl + R2NH

CH3COCl + R3N

https://dl.doubtnut.com/l/_KO8auSbXfOqf
https://dl.doubtnut.com/l/_aQBl1b2ofH3L


Answer: D

Watch Video Solution

11. Which of the following carboxylic acids is most reactive with 

to form an ester

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

C2H5OH

HCOOH

CH3COOH

CH3CH2COOH

CH2H5COOH

https://dl.doubtnut.com/l/_aQBl1b2ofH3L
https://dl.doubtnut.com/l/_njSR44ScLdsu


12.  

The major product of the reaction is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_BcDhPxP264OK


Practice Sheet 2 More Than One Correct Answer Questions

13. Select the �nal product (D) from this sequence of reactions . 

Acetoacetic ester 

A. 0COOC_2H_5),(" |"),(" "CH_2-CH_2-CH_3):}`

B. 

C. 

D. 

Answer: A

Watch Video Solution

NaOEt
−−−→ A

CH3I
−−→ B

NaOEt
−−−→ C

H3C−CH2 −CH2 −Br
−−−−−−−−−−−−−→ D

         CH3

          ∣

H3C − C − CH2COOC2H5

            |

          CH2 − CH2 − CH3

H3C − CH − CH2COOC2H5

            |

          CH2 − CH2 − CH3

          O   CH3

           ||      ∣

H3C − C − C − CH2COOC2H5

                    |

                 CH3

https://dl.doubtnut.com/l/_vvSn0CgAwwDj


1.  which of the following are formed as

species/compounds in the above conversion.

A. 

B. 

C. 

D. 

Answer: A::B::C

Watch Video Solution

R − CO − NH2

Br2 /KOH

−−−−−−→ RNH2

RCONHBr

RNCO

RCO
⋅ ⋅
NBr

RCO
⋅ ⋅
NBr2

2. Which of the following statements is/are correct .

A. Acid catalysed hydrolysis of an ester is bimolecular reaction

B. Base catslysed hydrolysis of an ester is a reversible reaction

C. Acid catalysed hydrolysis of an ester is a reversible reaction

https://dl.doubtnut.com/l/_eXtYO2ScGhaV
https://dl.doubtnut.com/l/_VZEtZ4IWd4vO


D. Base catalysed hydrolysis of an ester is an irreversible reaction

Answer: A::B::C::D

Watch Video Solution

3. Saponi�cation of an ester (A) followed by acidi�cation gives (B). (B)

gives violet color with  (A) is

A. Phenyl acetate

B. Methyl benzoate

C. Aspirin

D. Diethyl phthalate

Answer: A::C

Watch Video Solution

FeCl3

https://dl.doubtnut.com/l/_VZEtZ4IWd4vO
https://dl.doubtnut.com/l/_Hrj6Y4nBFszt


4. Hydroxylamine reacts with

A. 

B. 

C. 

D. 

Answer: A::B::C

Watch Video Solution

CH3COCl

CH3COCH3

CH3COOC2H5

CH3CONH2

5. A chiral compound X with molecular formula  liberates 

with aq.  . X on reduction with  gives achiral product .

The structure of X is

A. 

B. 

C4H8O3 CO2

NaHCO3 LiAlH4

CH3

OH

∣

C HCOOH

H3C −

H

∣

C
∣

CH2OH

COOH

https://dl.doubtnut.com/l/_rTyMSX1h8KEn
https://dl.doubtnut.com/l/_28N2Wl5wveYS


C. 

D. 

Answer: B

Watch Video Solution

H3C C
∣

OMe

H − COOH

CH3CH2 C
∣
OH

HCOOH

6. Which is not correct about X ? 

A. X can show haloform test

B. X can give brisk e�ervescence with 

C. X can not show fehling test

D. X contains one CHO, one keto group & one COOH group

NaHCO3

https://dl.doubtnut.com/l/_28N2Wl5wveYS
https://dl.doubtnut.com/l/_KMHoe5qaqBE1


Practice Sheet 2 Linked Compreshension Type Questions

Answer: A::B::C::D

Watch Video Solution

1.  

Study sequence of the reactions above and answer the following

questions . 

The reagent 'B' is

A. 

B. 

C. 

PCl3

PCl5

SOCl2

https://dl.doubtnut.com/l/_KMHoe5qaqBE1
https://dl.doubtnut.com/l/_XoIk8PXVR5mf


D. any of the above

Answer: D

Watch Video Solution

2.  

Study sequence of the reactions above and answer the following

questions . 

The reagent 'A' is

A. PCC

B. 

C. 

D. 

CrO2Cl2

H2CrO4

PDC

https://dl.doubtnut.com/l/_XoIk8PXVR5mf
https://dl.doubtnut.com/l/_ZDWKKlrbmou7


Answer: C

Watch Video Solution

3.  

Study sequence of the reactions above and answer the following

questions . 

The function group present in the product 'X' is

A. Anhydride

B. Amide

C. Ketone

D. Imide

Answer: D

https://dl.doubtnut.com/l/_ZDWKKlrbmou7
https://dl.doubtnut.com/l/_vUa9ierdJn7N


Watch Video Solution

4.   

D is a dicarboxylic acid and gives only one monosubstituted product.

Study the sequence of reactions above and answer the following

questions 

The compound 'D' is likely to be

A. 

B. 

https://dl.doubtnut.com/l/_vUa9ierdJn7N
https://dl.doubtnut.com/l/_bygMcG3pSIgF


C. 

D. any of the above

Answer: A

Watch Video Solution

5.   

D is a dicarboxylic acid and gives only one monosubstituted product.

Study the sequence of reactions above and answer the following

questions 

The structure of 'B' is

https://dl.doubtnut.com/l/_bygMcG3pSIgF
https://dl.doubtnut.com/l/_wXHICyN22PWm


A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_wXHICyN22PWm


Answer: A

Watch Video Solution

6.   

D is a dicarboxylic acid and gives only one monosubstituted product.

Study the sequence of reactions above and answer the following

questions 

Compound 'A' is

A. 

B. 

https://dl.doubtnut.com/l/_wXHICyN22PWm
https://dl.doubtnut.com/l/_PNLaInrfPI71


C. 

D. 

Answer: C

Watch Video Solution

7. Matching Type Questions 

https://dl.doubtnut.com/l/_PNLaInrfPI71
https://dl.doubtnut.com/l/_R07uiWuUj62f


Watch Video Solution

8. Matching Type Questions 

Watch Video Solution

https://dl.doubtnut.com/l/_R07uiWuUj62f
https://dl.doubtnut.com/l/_NBSE291J3ZO9


Practice Sheet 2 Integer Type Questions

9. Matching Type Questions 

View Text Solution

1. The minimum number of carbon atoms to be present to write an ester

is

Watch Video Solution

https://dl.doubtnut.com/l/_NJyE76FwiEvE
https://dl.doubtnut.com/l/_gyp0AwGc9jV2


2. Number of carbon atoms (minimum) be present for an acid to be

optically active

Watch Video Solution

3. Number of isomeric benzoic acids with formula  is

Watch Video Solution

C8H8O2

4. Carboxylic acids containing carbocyclic ring, possible for  is

(excluding stereoisomers) - COOH group must be bonded to cyclic ring

Watch Video Solution

C6H10O2

5. Number of isomers possible for  (both acids & esters,

excluding stereoisomers)

Watch Video Solution

C4H8O2

https://dl.doubtnut.com/l/_bmHT5d4fPIcp
https://dl.doubtnut.com/l/_zmkJQITte1Kr
https://dl.doubtnut.com/l/_ye87NHGhwP51
https://dl.doubtnut.com/l/_uRRg3Q6E87hW


Practice Sheet 3 Single Answer Questions

6. Number of resonance structures for  is

Watch Video Solution

HCOO−

7. Number of resonance structures possible for benzaldehyde

Watch Video Solution

1. The reaction product of the compound ‘A’ with excess of methyl

magnesium iodide followed by acidic hydrolysis yields tertiary butanol.

The compound could be

A. methanol

B. ethanol

C. propanal

https://dl.doubtnut.com/l/_uRRg3Q6E87hW
https://dl.doubtnut.com/l/_IeZLYw0HN2Qy
https://dl.doubtnut.com/l/_LF7iHMjYk1Cm
https://dl.doubtnut.com/l/_MDKKsDkQNklv


D. Methyl ethanoate

Answer: D

View Text Solution

2. For hydrolysis of the following functional groups, the decreasing order

of reactivity

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

RCOOR > RCOCl > RCONH2

RCOCl > RCOOR > RCONH2

RCOCl > RCONH2 > RCOOR

RCOOR > RCONH2 > RCOCl

https://dl.doubtnut.com/l/_MDKKsDkQNklv
https://dl.doubtnut.com/l/_DHROlBYlKnXF


3. What is the end product of the following sequence of reactions 

Acetamide .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

P2O3

−−→ A
4 (H )
−−−→ B

CH3NH2

C2H5NH2

CH3CN

CH3COONH4

4. The reaction between  followed by hydrolysis

yields

A. acetamide

B. acetic acid

C. Pyruvic acid (2-oxopropanoic acid)

CH3COCl and KCN

https://dl.doubtnut.com/l/_SofT8RtU4okV
https://dl.doubtnut.com/l/_C1sPyKEuNJbD


D. methyl isocyanate

Answer: C

Watch Video Solution

5. The end product 'E' in the reaction sequence 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3CONH2
P2O5

−−→ B
4 (B )
−−→ C

HNO2 .Cold
−−−−−−→ D

Cu300 ∘

−−−−→ E

CH3CHO

CH3COOC2H5

CH3COCH3

(CH3CO)2O

https://dl.doubtnut.com/l/_C1sPyKEuNJbD
https://dl.doubtnut.com/l/_yebKp7y6tjjI


6. The preparation of ethyl acetoacetate involves

A. Witting reaction

B. Claisen condensation

C. Cannizaro's reaction

D. Reformatsky reaction

Answer: B

Watch Video Solution

7. The products of acid hydrolysis of P and Q can be distinguished by 

A. Lucas reagent

B. 2,4-DNP

C. Fehling's solution

https://dl.doubtnut.com/l/_7QNnXOC9n44Y
https://dl.doubtnut.com/l/_BFYPUKP6uZTQ


D. 

Answer: C

Watch Video Solution

NaHSO3

8. Acetic anhydride is used

A. as an acetylating agent

B. for the detection and estimation of -OH & -  groups

C. In the manufacture of aspirin

D. all of the above

Answer: D

View Text Solution

NH2

9. Fruity smell is given by

https://dl.doubtnut.com/l/_BFYPUKP6uZTQ
https://dl.doubtnut.com/l/_to8Ed6iAJoVZ
https://dl.doubtnut.com/l/_k3YYddbDBFsU


A. esters

B. alcohols

C. chloroform

D. acid anhydrides

Answer: A

View Text Solution

10. The product of the reaction : 

A. 

B. 

C6H5 − CH = C − COOH

https://dl.doubtnut.com/l/_k3YYddbDBFsU
https://dl.doubtnut.com/l/_hUeTOeR8ihVg


C. 

D. 

Answer: D

Watch Video Solution

11. In the given reaction

will be

A. 

B. 

C. 

D. 

C6H5CHO + X
( i )Zn

−−−−−−−−−−−→
( ii )HOH /NH4Cl

C6H5 −

OH

∣

C H − CH2 − COOC2H5. [X]

CH3 − COOC2H5

CH3 − CH2 − COOC2H5

Br − CH2COOC2H5

https://dl.doubtnut.com/l/_hUeTOeR8ihVg
https://dl.doubtnut.com/l/_djBusOi5Vq39


Answer: C

Watch Video Solution

12. Consider the following sequence of reactions 

  

Identify the A,B ,C and D

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

−F , − COOH, − COCH3, − OCH2CH2CH3

−CHO, − COOH, − COCl, − COCH2CH3

−Br, COOH, − COCl, − COCH2CH3

−Br, − COOH, − COCl, − CHO

https://dl.doubtnut.com/l/_djBusOi5Vq39
https://dl.doubtnut.com/l/_wQmOkFkeyoTc


13. The reaction , 

, is called

A. Claisen reduction

B. Claisen condensation

C. Bouveault-Blanc reduction

D. Tischenko reduction

Answer: C

View Text Solution

CH3COOC2H5
Na+C2H5OH
−−−−−−−−→

4 [H ]
C2H5OH + CH3CH2OH

14.   

In the above reaction , products A and B respectively are

A. 

B. 

C6H5COOCH3 + 18OH → A + B

C3H5

O

∣ ∣

C − O− +CH3O
18H

C2H5 −

O18

∣ ∣

C − O− 18 + CH3OH

https://dl.doubtnut.com/l/_kZFjxWkH7bR2
https://dl.doubtnut.com/l/_aSFMs5vW3Ksh


C. 

D. 

Answer: C

View Text Solution

C2H5 −

O

∣ ∣

C − O− 18 + CH3OH

C2H5 −

O18

∣ ∣

C − ¯̄̄O
+
CH3OH

15.  . The

above reaction is known as

A. Schmidt reaction

B. Curtius reaction

C. Hofmann rearrangement

D. Lossen rearrangement

Answer: A

https://dl.doubtnut.com/l/_aSFMs5vW3Ksh
https://dl.doubtnut.com/l/_JhJI3eAPym0J


Practice Sheet 3 More Than One Correct Answer Questions

View Text Solution

1. Which of the following acids are dicarboxylic acids?

A. Succinic acid

B. Glutaric acid

C. Lactic acid

D. Cinnamic acid

Answer: A::B

Watch Video Solution

2. Which of the following can convert

 ?CH3 − CH = CH − CHO → CH3 − CH = CH − COOH

https://dl.doubtnut.com/l/_JhJI3eAPym0J
https://dl.doubtnut.com/l/_f2GGgGK7ARvV
https://dl.doubtnut.com/l/_FOybBKpsPIgi


A. Tollen's reagent

B. Fehling's solution

C. /KOH(cold)

D. /KOH(hot)

Answer: A::B::C

Watch Video Solution

KMnO2

KMnO4

3. Acetoacetic ester is used for the synthesis of :

A. -unsaturated acids

B. -keto acids

C. monocarboxylic acids

D. diacarboxylic acids

Answer: A::B::C::D

Watch Video Solution

α, β

γ

https://dl.doubtnut.com/l/_FOybBKpsPIgi
https://dl.doubtnut.com/l/_IBM1KFxGidgY


Practice Sheet 3 Linked Comprehension Type Questions

4. Reaction of R-COOH with  gives  as the main product. The

intermediates involved in this reaction are :

A. 

B. 

C. 

D. 

Answer: B::C

Watch Video Solution

N3H RNH2

RNHNH2

RCON3

RNCO

RCONH2

1. Hydroxy ethanoic acid is a white solid, readly soluble in water. It is

prepared by the hydrolysis of chloroethanoic acid with sodium hydroxide

followed by acidi�cation. It exhibits the properties of both a

https://dl.doubtnut.com/l/_IBM1KFxGidgY
https://dl.doubtnut.com/l/_esztg0s0tqcD
https://dl.doubtnut.com/l/_Y7nR3g1wJJPv


monocarboxylic acid and a primary alchol. In addition, it undergoes

reactions which neither a carboxylic acid nor a primary alcohol can

undergo. 

Which of the following products is formed when hydroxyethanoic acid is

being heated?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

HO − CH3

H −

O

∣ ∣

C −

O

∣ ∣

C − H

HO −

O

∣ ∣

C −

O

∣ ∣

C − H

2. Hydroxy ethanoic acid is a white solid, readly soluble in water. It is

prepared by the hydrolysis of chloroethanoic acid with sodium hydroxide

followed by acidi�cation. It exhibits the properties of both a

https://dl.doubtnut.com/l/_Y7nR3g1wJJPv
https://dl.doubtnut.com/l/_KC0TpE2xhOkh


monocarboxylic acid and a primary alchol. In addition, it undergoes

reactions which neither a carboxylic acid nor a primary alcohol can

undergo. 

Which of the following ractions is NOT given by hydroxy ethanoic acid ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

HOCH2 − COOH + CH3OH
H +

⇐⇒ CH3O − CH2COOH3

HOCH2 − COOH
Na2Cr2O7

−−−−−→
H2SO4

CO2 + H2O

HOCH2 − COOH
Conc.H2SO2

−−−−−−→
H2SO4

HCHO + CO + H2O

HOCH2 − COOH
Cu , 573K
−−−−−→ H −

O

∣

C − COOH

3. Hydroxy ethanoic acid is a white solid, readly soluble in water. It is

prepared by the hydrolysis of chloroethanoic acid with sodium hydroxide

followed by acidi�cation. It exhibits the properties of both a

monocarboxylic acid and a primary alchol. In addition, it undergoes

https://dl.doubtnut.com/l/_KC0TpE2xhOkh
https://dl.doubtnut.com/l/_VTu01lW8UXTS


reactions which neither a carboxylic acid nor a primary alcohol can

undergo. 

Which of the following reagent can convert 2-hydroxy propanoic acid to

2-oxo propanoic acid?

A. 

B. 

C. Conc. 

D. 

Answer: A

Watch Video Solution

Ag2O

Na2Cr2O7 /H2SO4

H2SO4

Br2 /CCl4

4. Hydroxy ethanoic acid is a white solid, readly soluble in water. It is

prepared by the hydrolysis of chloroethanoic acid with sodium hydroxide

followed by acidi�cation. It exhibits the properties of both a

monocarboxylic acid and a primary alchol. In addition, it undergoes

reactions which neither a carboxylic acid nor a primary alcohol can

https://dl.doubtnut.com/l/_VTu01lW8UXTS
https://dl.doubtnut.com/l/_nJamhLMQz7iV


undergo. 

Hydroxyl ethanoic acid can be prepared by

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

HCHO
( i )HCN

−−−−−→
( ii )H3O

+
HOCH2CO2H

CH3COOH
( i )Cl2redP
−−−−−−→

( ii )KOH
HOCH2CO2H

OHC − CO2H
( i )LiAlH4

−−−−−−→
( ii )H2O

HOCH2CO2H

CH3 − CO2H
Se

−−→ HOCH2CO2H

5. An acid (A) which is an important constituent of vinegar, on reaction

with red  and  gives a monobromoderivative (B) which on reaction

with  gives a white solid (C). However, ethanal on reaction with a

mixture of ammonium chloride and sodium cyanide undergoes strecker

synthes is to give a product which on acidic hydrolysis gives another high

melting solid (D). 

The structure of the compound (D) is

P4 Br2

NH3

https://dl.doubtnut.com/l/_nJamhLMQz7iV
https://dl.doubtnut.com/l/_X1tQO75JZnv7


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3(OH)CHCOOH

( + )CH3CH(NH2)CHCOOH

( ± )CH3CH(NH2)COOH

( ± )CH3CH(OH)CONH2

6. An acid (A) which is an important constituent of vinegar, on reaction

with red  and  gives a monobromoderivative (B) which on reaction

with  gives a white solid (C). However, ethanal on reaction with a

mixture of ammonium chloride and sodium cyanide undergoes strecker

synthes is to give a product which on acidic hydrolysis gives another high

melting solid (D). 

The total number of optical iosmers of (C) and (D) are

A. 4

P4 Br2

NH3

https://dl.doubtnut.com/l/_X1tQO75JZnv7
https://dl.doubtnut.com/l/_nXW6A8fZ4n9H


B. 2

C. 3

D. zero

Answer: C

Watch Video Solution

7. An acid (A) which is an important constituent of vinegar, on reaction

with red  and  gives a monobromoderivative (B) which on reaction

with  gives a white solid (C). However, ethanal on reaction with a

mixture of ammonium chloride and sodium cyanide undergoes strecker

synthes is to give a product which on acidic hydrolysis gives another high

melting solid (D). 

The dipolar ion is formed by

A. Only D

B. Only B

P4 Br2

NH3

https://dl.doubtnut.com/l/_nXW6A8fZ4n9H
https://dl.doubtnut.com/l/_qCQnPwGfbhdL


C. B and C

D. Only C and D

Answer: B

Watch Video Solution

8. An acid (A) which is an important constituent of vinegar, on reaction

with red  and  gives a monobromoderivative (B) which on reaction

with  gives a white solid (C). However, ethanal on reaction with a

mixture of ammonium chloride and sodium cyanide undergoes strecker

synthes is to give a product which on acidic hydrolysis gives another high

melting solid (D). 

The intermediate involves in the conversion of (A) and (B) is

A. 

B. 

P4 Br2

NH3

H −

O

∣ ∣

C − Br

C
∣
Br

H2 −

O

∣ ∣

C − OH

https://dl.doubtnut.com/l/_qCQnPwGfbhdL
https://dl.doubtnut.com/l/_iJ6K0BNpBvX5


Practice Sheet 3 Matching Type Questions

C. 

D. 

Answer: C

Watch Video Solution

C
∣
Br

H2 −

Br

∣ ∣

C = O

CH3 −

O

∣ ∣

C = Br

1. Matching Type questions 

Watch Video Solution

https://dl.doubtnut.com/l/_iJ6K0BNpBvX5
https://dl.doubtnut.com/l/_pl0ZKpy3AGyz


Practice Sheet 3 Integer Type Questions

2. Matching Type questions 

Watch Video Solution

1. How many of the following are stronger than HCOOH (formic acid) ? 

,

Watch Video Solution

Ph − COOh, Ph, CH − COOH, CH3 − COOH, I − CH2 − COOH

Br − CH2 − COOH, Cl − CH2 − COOH, F − CH2 − COOH, NC − C

O2N − CH2 − COOH, H2C = CH − COOH

https://dl.doubtnut.com/l/_i7fv7PrT2BFW
https://dl.doubtnut.com/l/_tcxMnFXKGL1X


2. How many of the following dicarboxylic acids are forming cyclic

anhydride on heating ? 

Watch Video Solution

3. 

Watch Video Solution

https://dl.doubtnut.com/l/_bqs9wOjdKVUP
https://dl.doubtnut.com/l/_pUqq1R8NKATO


4. How many moles of NaOH would be required for complete

Neutralisation of following compounds 

Watch Video Solution

5. How many moles of  will released when following compound

treated with heat 

CO2

https://dl.doubtnut.com/l/_RVxuTBpZCZ7I
https://dl.doubtnut.com/l/_6E6gxbAsTISj


Practice Sheet 4 Single Answer Questions

Watch Video Solution

1. Complete the following reaction

A. 

B. 

https://dl.doubtnut.com/l/_6E6gxbAsTISj
https://dl.doubtnut.com/l/_HIt4MMJvYR4i


C. 

D. 

Answer: C

Watch Video Solution

2. Complete the following reaction

A. 

https://dl.doubtnut.com/l/_HIt4MMJvYR4i
https://dl.doubtnut.com/l/_qB4kffYGSuIp


B. 

C. 

D. 

Answer: C

Watch Video Solution

3. Adipic acid R is

A. 

B. 

2EtOH
−−−→
H +

P
EtOH
−−−→ Q

1 .EtO
−−−−−−−−−−−→
2Br (CH2 ) 3CO2 .Et

R,

EtO2C − (CH2)4 − CO2Et

https://dl.doubtnut.com/l/_qB4kffYGSuIp
https://dl.doubtnut.com/l/_yfeoCWbhTbJC


C. 

D. 

Answer: C

Watch Video Solution

EtO2C − (CH2)4 − CO2H

4.   

 represents rate of cuclisation. Then relation between 

 is

A. 

B. 

C. 

D. 

_ 1, r2, r3

r1, r2 and r3

r1 > r2 > r3

r3 > r2 > r1

r1 > r3 > r3

r1 = r2 = r3

https://dl.doubtnut.com/l/_yfeoCWbhTbJC
https://dl.doubtnut.com/l/_SVSlWf8E8ZgY


Answer: B

Watch Video Solution

5. Which of the following statement is correct ? 

P) pyruvic acid gives haloform test 

Q) pyruvic acid gives tollen's test 

R) pyruvic acid undergoes decarboxylation with warm. dil  and

gives   

S) pyruvic acid undergoes decarbonylation with warm, conc. , and

gives 

A. P,Q,R,S

B. P,Q,R only

C. R,Q only

D. Only P

Answer: A

h id l i

H2SO4

CH3CHO

H2SO4

CH3COOH

https://dl.doubtnut.com/l/_SVSlWf8E8ZgY
https://dl.doubtnut.com/l/_lXq83pjOvPMa


Practice Sheet 4 More Than One Correct Answer Questions

Watch Video Solution

6. Find out the correct reaction

A. 

B. 

C.  �nal product in the above reaction number of

moles of  consumed is 4

D. 

Answer: A

Watch Video Solution

X2

F3C − CF2 − CO − NH2

Br2 /¯̄¯̄¯̄OH
−−−−→ F3C − CF3 − NH2

https://dl.doubtnut.com/l/_lXq83pjOvPMa
https://dl.doubtnut.com/l/_aUUVVODfY60y


1. A carboxylic acid (X) of unknown structure was found to contain only C,

H and O. Titration data : 150 mg required 11.9 ML of 0.22 N NaOH to reach

equilibrium point. Gentle heating of 'X' led to evolution of  and

formation of a new carboxylic acid, 'Y' with equivalent weight 74. Correct

statement is/are

A. X is 

B. Y is 

C. Y is 

D. X is 

Answer: A::C

Watch Video Solution

CO2

HO2C − C
∣

CH3

H − CO2H

H3C −

O

∣ ∣

C − CH2 − CO2H

CH3 − CH2 − COOH

H2OC − CH2 −

O

∣ ∣

C − CH2 − CO2H

2. Which of the following is given correctly inter pretested .

https://dl.doubtnut.com/l/_DT6DoB225cSd
https://dl.doubtnut.com/l/_4KzzEdBdORu1


A. 

B. 

C. 

D. 

Answer: A::B::D

Watch Video Solution

3. Which of the following reactions is/are correctly represented

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_4KzzEdBdORu1
https://dl.doubtnut.com/l/_veQPlKZ87lI5


Answer: A::B

Watch Video Solution

4. Acetophenone . Incorrect statement(s)

about product C is …..

A. Product 'C' on heating liberates  gas.

B. Product 'C' is more acidic than picric acid

C. Product 'C' can reduce Tollen's reagent

D. product 'C' can give test with neural 

Answer: A::B::C

Watch Video Solution

NaNO2 /HCl

−−−−−−−→ A
AC2O
−−→

Δ
B

H3O
+

−−−→ C

CO2

FeCl2

5.  Product . Correct statements about

the reaction is

H2C = C = O + CH2N2
− 78 ∘C
−−−−→

https://dl.doubtnut.com/l/_veQPlKZ87lI5
https://dl.doubtnut.com/l/_kH1vlRfDyHAN
https://dl.doubtnut.com/l/_aOiXGRRtZMcb


A. product 

B. Intermediate is 

C.  cyclo addition reaction

D. All the above

Answer: D

Watch Video Solution

[π2 + π2]

6.  Correct

option regarding above reaction is

A. X is  CH3 − CH = C = O

https://dl.doubtnut.com/l/_aOiXGRRtZMcb
https://dl.doubtnut.com/l/_0KkFnr3qyKvm


B. Y is

C. Both a and b

D. [4+2] cyclo addition

Answer: A

Watch Video Solution

7.  

 

Correct statement is

A. In  , the two  bonds ar perpendicular to each other

B. Y is 

C. Y is optically inactive

D. All the above

CH2 = C = O → X
(dilketene)

CH2 = C = O π

H2C = C = CH2

https://dl.doubtnut.com/l/_0KkFnr3qyKvm
https://dl.doubtnut.com/l/_zqYowTCcBreO


Practice Sheet 4 Linked Comprehension Type Questions

Answer: D

Watch Video Solution

1. An organic compound (A)  on reduction with red 

and Hl gives propane (A) on hydrolysis by an alkali followed by oxidation

gives  , which on heating gives (C). Both (B) and (C) gice

e�ervescencence with sodium hydrogen carbonate. (B) on reacting with

alcohol gives (D) ,  a well known synthetic reagent. Now answer

the following questions. 

(D) +benzaladehyde  manor product (E). The product (E) is

A. Crotonic acid

B. Cinnamic acid

C. Benzoic acid

D. Mandelic acid

C
∣
Cl

H2 − CH2 − CH2

Cl
P4

B(C3H4O4)

C7H12O8

( i ) pyridine,Δ
−−−−−−−−→

( ii )H +

https://dl.doubtnut.com/l/_zqYowTCcBreO
https://dl.doubtnut.com/l/_Fjv2DPHoZQPU


Answer: B

Watch Video Solution

2. An organic compound (A)  on reduction with red 

and Hl gives propane (A) on hydrolysis by an alkali followed by oxidation

gives  , which on heating gives (C). Both (B) and (C) gice

e�ervescencence with sodium hydrogen carbonate. (B) on reacting with

alcohol gives (D) ,  a well known synthetic reagent. Now answer

the following questions. 

Compound (C)  Product (F). Hence , the product (F) may be

A. Malonic anhydride

B. Cinnamic acid

C. Ethanal

D. A cyclic ester called lactone

Answer: B

C
∣
Cl

H2 − CH2 − CH2

Cl
P4

B(C3H4O4)

C7H12O8

P4O10

−−→
Δ

https://dl.doubtnut.com/l/_Fjv2DPHoZQPU
https://dl.doubtnut.com/l/_JNev0VmjEUWH


Watch Video Solution

3. An organic compound (A)  on reduction with red 

and Hl gives propane (A) on hydrolysis by an alkali followed by oxidation

gives  , which on heating gives (C). Both (B) and (C) gice

e�ervescencence with sodium hydrogen carbonate. (B) on reacting with

alcohol gives (D) ,  a well known synthetic reagent. Now answer

the following questions. 

Compound (A)  product (G). The product (G) is

A. Malonic acid

B. Adipic acid

C. Glutaric acid

D. Valeric acid

Answer: C

Watch Video Solution

C
∣
Cl

H2 − CH2 − CH2

Cl
P4

B(C3H4O4)

C7H12O8

( i )KCN /C2H2OH

−−−−−−−−−−−→
( ii )H +

https://dl.doubtnut.com/l/_JNev0VmjEUWH
https://dl.doubtnut.com/l/_tn9caSeQ7KwH


4. An organic compound  yields (B) when treated with aq.

KOH. (B) upon treatment with  in presence of acid gave (C)

which upon reducing with  gave (D) and (E). (B) upon treatment

with  followed by heating with  and subsequent hydrolysis

gives back (B). Sodium salt of (B) on Kolbe's electrolysis gave 2, 3-

dimethylbutane at anode. 

The IUPAC name of compound (A) is

A. 1,1,2-trichlorobutane

B. 1,2,2-trichlorobutane

C. 1,1,2-trichloro-2-methylpropane

D. 1,1,1-trichloro-2-methylpropane

Answer: D

Watch Video Solution

A(C4H7C13)

C2H5OH

LiAIH4

NH3 P4O10

https://dl.doubtnut.com/l/_PXqtHOBD1YV0


5. An organic compound  yields (B) when treated with aq.

KOH. (B) upon treatment with  in presence of acid gave (C)

which upon reducing with  gave (D) and (E). (B) upon treatment

with  followed by heating with  and subsequent hydrolysis

gives back (B). Sodium salt of (B) on Kolbe's electrolysis gave 2, 3-

dimethylbutane at anode. 

Structural formula of compound (C) is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A(C4H7C13)

C2H5OH

LiAIH4

NH3 P4O10

CH3

CH3

∣

C HCOOC2H5

CH3 − CH2 − CH2 − COOC2H5

CH3 − CH2 −

C2H5

∣

C H − COOH

CH3 −

CH3

∣

C H − COO

CH3

∣

C H − CH3

https://dl.doubtnut.com/l/_jODbh7f44zpV


6. An organic compound  yields (B) when treated with aq.

KOH. (B) upon treatment with  in presence of acid gave (C)

which upon reducing with  gave (D) and (E). (B) upon treatment

with  followed by heating with  and subsequent hydrolysis

gives back (B). Sodium salt of (B) on Kolbe's electrolysis gave 2, 3-

dimethylbutane at anode. 

Compound (D) and (E) respectively are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A(C4H7C13)

C2H5OH

LiAIH4

NH3 P4O10

CH3CH2CH2OH, C2H5OH

CH3 − C
∣

CH3

HCH2OH, C2H5OH

CH3CH2CH2CH2OH, C2H5OH

CH3 − C
∣

CH3

HCH2 − OCH3 − CH3OH

https://dl.doubtnut.com/l/_e7h5Bn4XZyus


Practice Sheet 4 Matching Type Questions

7. An organic compound  yields (B) when treated with aq.

KOH. (B) upon treatment with  in presence of acid gave (C)

which upon reducing with  gave (D) and (E). (B) upon treatment

with  followed by heating with  and subsequent hydrolysis

gives back (B). Sodium salt of (B) on Kolbe's electrolysis gave 2, 3-

dimethylbutane at anode. 

The dehydration of compound (D) gives

A. 2-methyl 1-butane

B. 2-butane

C. 1-butane

D. isobutene

Answer: D

Watch Video Solution

A(C4H7C13)

C2H5OH

LiAIH4

NH3 P4O10

https://dl.doubtnut.com/l/_v3saoMqtnlS7
https://dl.doubtnut.com/l/_08lpvMOau1pa


Practice Sheet 4 Integer Type Questions

1. Matching Type Questions 

Watch Video Solution

2. Matching Type Questions 

Watch Video Solution

https://dl.doubtnut.com/l/_08lpvMOau1pa
https://dl.doubtnut.com/l/_yZxoBoieDLEs


1. How many of the following compounds will give Ho�man Hypo bromide

reaction. 

Watch Video Solution

2. How many of the following compound liberate  on heating 

Malonic acid, Adipic Acid,

Watch Video Solution

CO2

https://dl.doubtnut.com/l/_u0bC4I5rfYdl
https://dl.doubtnut.com/l/_U8IH5ulN4cZW


3. How many of the following compounds can give -Alcohols with

excess of  and followed by Hydrolysis 

Watch Video Solution

3∘

CH3MgCl

4.   

Number of Ring carbons in z is

Watch Video Solution

5. Pthalic acid  . No of  carbons in 'x' are

Watch Video Solution

Δ
−−→ product

x
sp2

https://dl.doubtnut.com/l/_VqZSFXxElsdc
https://dl.doubtnut.com/l/_vi228NzkPjmN
https://dl.doubtnut.com/l/_8O60hTQh7LOl


6.  value of 'x'

is

Watch Video Solution

7. Examine the structural formulas of following compounds and �nd out

how many compounds show Self Claisen Condensation reaction 

Watch Video Solution

https://dl.doubtnut.com/l/_KuvbrvpW2c35
https://dl.doubtnut.com/l/_Sv5SnpKbx3Vt


Problem

8.   

At what value of 'n' the formation of �ve membered ring take place .

Watch Video Solution

9.  .

How many di�erent products (including stereo)would beform by above

reaction.

Watch Video Solution

CH3 −

O

∣ ∣

C − OC2H5 + CH3 −

O

∣ ∣

C − O − C2H5
C2H5O

Θ Na⊕ C2H5OH
−−−−−−−−−−−−−→

https://dl.doubtnut.com/l/_khxJZ7O0QEiU
https://dl.doubtnut.com/l/_Rctar9JG5U0Y


1. Attachment of vinyl group or phenyl group directly to carboxylic acid

group has e�ect on the acidic character of that carboxylic acid. Explain. 

Watch Video Solution

2. Why oxalic acid is a stronger acid than acetic acid? 

Watch Video Solution

3. Why benzoic acid is a stronger acid than acetic acid? 

Watch Video Solution

4. Explain why carboxylic acids are stronger acids than phenols? 

Watch Video Solution

https://dl.doubtnut.com/l/_cfLPlc8tWuW1
https://dl.doubtnut.com/l/_dYtKr9VPE84f
https://dl.doubtnut.com/l/_amCBQYRrZzQw
https://dl.doubtnut.com/l/_xFEyyGgqsLSo


5. Chloroacetic acid is stronger acid than acetic acid. Explain. 

Watch Video Solution

6. How is formic acid prepared ? 

Watch Video Solution

7. Write sequence of steps for the conversion of formic acid to acetic acid

? 

Watch Video Solution

8. How is acetic acid converted to formic acid ? 

Watch Video Solution

https://dl.doubtnut.com/l/_wor7iEnh2RMj
https://dl.doubtnut.com/l/_U1PczV160YLJ
https://dl.doubtnut.com/l/_SMLqNdGg7T0A
https://dl.doubtnut.com/l/_QI4mxfhTWloG


9. How is benzoic acid prepared from benzene? 

Watch Video Solution

10. Show how Acetophenone compound can be convered to benzoic acid.

Watch Video Solution

11. Write chemical reactions to a�ect the following transformations : 

Benzyl alcohol to phenylethanoic acid

Watch Video Solution

12. What happens when malonic acid is heated ? 

Watch Video Solution

https://dl.doubtnut.com/l/_WwFFrgK7fCXn
https://dl.doubtnut.com/l/_eg1FAagytM2M
https://dl.doubtnut.com/l/_2kEWU8RSKPbi
https://dl.doubtnut.com/l/_UzJfHjjfYS5m


13. Explain the orientation of-COOH group, when present on benzene

ring. 

Watch Video Solution

14. How is formic acid distinguished from acetic acid ? 

Watch Video Solution

15. Acetic acid has a molecular mass of 120 when dissolved in benzene.

Why? 

Watch Video Solution

16. How is acetic acid converted separately to methylamine and ethyl

amine? 

Watch Video Solution

https://dl.doubtnut.com/l/_0cosgbwKexAk
https://dl.doubtnut.com/l/_GgUOnUpqHWlN
https://dl.doubtnut.com/l/_DS8t8sFlTNow
https://dl.doubtnut.com/l/_DPn1Ndm9cpSr


17. Explain the conversion of acetic acid into methane and ethane in

separate steps. 

Watch Video Solution

18. Hydrolysis of an ester in presence of NaOH is called saponi�cation.

Explain. 

Watch Video Solution

19. Give the order of reactivity of various acid derivatives towards

nucleophilic substitution. Solution 

Watch Video Solution

20. How is acetamide converted to methamine? 

W h Vid S l i

https://dl.doubtnut.com/l/_DPn1Ndm9cpSr
https://dl.doubtnut.com/l/_qYmxf46eNO33
https://dl.doubtnut.com/l/_50U9IE7E58u4
https://dl.doubtnut.com/l/_XFgL0bCSvHs3
https://dl.doubtnut.com/l/_VLPOZ00gBPnm


Exercise 4 1 1

Watch Video Solution

21. Write sequence of reactions to convert acetic acid into 2-proponol. 

Watch Video Solution

1. Write examples and names of carboxylic acids. 

Watch Video Solution

2. Write on the dissociation equilibrium of carboxylic acids. 

Watch Video Solution

3. Carboxylic acids are weak organic acids. Discuss the relative acidic

strength of carboxylic acids hased on  values. K4

https://dl.doubtnut.com/l/_VLPOZ00gBPnm
https://dl.doubtnut.com/l/_rCFT01ZAbkxv
https://dl.doubtnut.com/l/_JZqE3VBYpeaz
https://dl.doubtnut.com/l/_ePe3uIIVqZm0
https://dl.doubtnut.com/l/_RZN9KbwFFEmp


Exercise 4 1 2

Watch Video Solution

4. Draw the structures of Hex-2-en-4-ynoic acid and 3-chloro-4-

phenylpentanoic acid. 

Watch Video Solution

5. Write IUPAC names of

.

Watch Video Solution

CH3COCH2COCH3 and (CH3)3CCH,2 COOH

1. How is acetic acid prepared? Explain the properties of acetic acid. 

Watch Video Solution

https://dl.doubtnut.com/l/_RZN9KbwFFEmp
https://dl.doubtnut.com/l/_U1wO87QD1V5d
https://dl.doubtnut.com/l/_IrdidupjsHyg
https://dl.doubtnut.com/l/_D6QCgsG8skBP
https://dl.doubtnut.com/l/_K2fA49jrEUoX


2. How is acetic acid obtained from: (a) ethanol, (b) acetonitrile and (c)

Grignard reagent. 

Watch Video Solution

3. Write equations for the reaction of acetic acid with the following

reagents : 

(a) , (b) , (c) , (d) , and (e) red P. 

Watch Video Solution

Na NaOH NaHCO3 NH3 Cl2 /

4. How is acetic acid converted to (a) acetone, (b) ethane and (c) ethyl

amine. 

Watch Video Solution

5. How the strength of an acid changes with inductive and mesomeric

e�ects exerted by various groups present in it.        

https://dl.doubtnut.com/l/_K2fA49jrEUoX
https://dl.doubtnut.com/l/_vei3oiYM4QM9
https://dl.doubtnut.com/l/_JS5BY4SzacGL
https://dl.doubtnut.com/l/_dwDq02gopJmN


Watch Video Solution

6. What happens when acetic acid is (a) heated with , (b) treated

with  and (c) treated with ? 

Watch Video Solution

P2O5

LiA/H4 SOCl2

7. Write the equations for the following reactions: (a) Calcium acetate

 (b) Sodium acetate  and (c) Acetic acid 

Watch Video Solution

−−→
Δ

NaOH
−−−−−−→

CaO

HI
−−−−−→

ReaP

8. Write short notes on : (a) HVZ reaction and (b) Esteri�cation. 

Watch Video Solution

https://dl.doubtnut.com/l/_dwDq02gopJmN
https://dl.doubtnut.com/l/_1JBgTCeCwvl2
https://dl.doubtnut.com/l/_xlxK7VzqBbOb
https://dl.doubtnut.com/l/_jDzP5tv4VPe4


9. Explain why the boiling point of acetic acid is higher than that of

aldehydes and alcohols having same molar mass. 

Watch Video Solution

10. Write the important uses of acetic acid. 

Watch Video Solution

11. Write the conversions

Watch Video Solution

C2H5OH → CH3COOH and CH3OH → CH3COOH

12. Complete the reactions : , (b) 

Watch Video Solution

(a)CH3COOH
P4O10

−−−−−→
Δ

    

CH3COOH
LiAlH4

−−−→

https://dl.doubtnut.com/l/_hNSB0URDT4C8
https://dl.doubtnut.com/l/_AXm5a7M486mR
https://dl.doubtnut.com/l/_vMLS5P5FpoPo
https://dl.doubtnut.com/l/_DLNW9IvSq97C


Exercise 4 1 3

13. Although phenoxide ion has more number of resonating structures

than carboxylate ion, carboxylic acid is a stronger acid than phenol. Why?

Watch Video Solution

1. Explain how ethyl acetate is prepared? Discuss its properties. 

Watch Video Solution

2. How is acetamide prepared? What are its properties? 

Watch Video Solution

3. How is acetyl chloride prepared? Discuss its properties. 

https://dl.doubtnut.com/l/_DLNW9IvSq97C
https://dl.doubtnut.com/l/_cqMVo2I4w5aT
https://dl.doubtnut.com/l/_6YS5awQAqzS1
https://dl.doubtnut.com/l/_FKZL5M6wNgqB
https://dl.doubtnut.com/l/_e8XffE0lwVyk


Exercise 4 2

Watch Video Solution

4. Discuss the methods of preparation and properties of acetic

anhydride. 

Watch Video Solution

5. Write short notes on the Hofmann hypobromite reaction with

mechanism.

Watch Video Solution

1. What is Etard reaction ? Give equation.

Watch Video Solution

https://dl.doubtnut.com/l/_e8XffE0lwVyk
https://dl.doubtnut.com/l/_ExKOm9jIRfTE
https://dl.doubtnut.com/l/_5RxS3uLVPYuR
https://dl.doubtnut.com/l/_SV68jySTo58x
https://dl.doubtnut.com/l/_lx0UcMug68nA


2. Wxplain Gattermann-Koch reaction for the formation of benzaldehyde

Watch Video Solution

3. Explain why carboxylic acids are stronger acids than phenols? 

Watch Video Solution

4. How is inductive e�ect useful to explain the relative strength of

aliphatic carboxylic acids? Explain with suitable examples. 

Watch Video Solution

5. Acetic acid is stronger acid than peroxyacitic acid? Why? 

Watch Video Solution

6. How is benzoic acid prepared ? What are its properties? 

https://dl.doubtnut.com/l/_lx0UcMug68nA
https://dl.doubtnut.com/l/_rYe2ZuXKXDgG
https://dl.doubtnut.com/l/_cF7DdeORH2rv
https://dl.doubtnut.com/l/_10dXa899EldW
https://dl.doubtnut.com/l/_gjphICess6l6


Watch Video Solution

7. How is lactic acid prepared ? Write two reactions of lactic acid.

Watch Video Solution

8. Write the mechanism of Claisen condensation. 

Watch Video Solution

9. Discuss the geometrical isomerism exhibited by maleic and fumaric

acids. How they di�er in properties? 

Watch Video Solution

10. Write the order of acidic strengths of benzoic acid and isomeric

chlorobenzoic acids. 

https://dl.doubtnut.com/l/_gjphICess6l6
https://dl.doubtnut.com/l/_0djraCAfu2S0
https://dl.doubtnut.com/l/_38lael7i4kCR
https://dl.doubtnut.com/l/_z0YguJQofkRX
https://dl.doubtnut.com/l/_fVU5c59QVKnX


Watch Video Solution

11. Explain how succinic acid is prepared .

Watch Video Solution

12. Write the mechanism of Ho�mann bromamide reaction.

Watch Video Solution

13. Write the mechanism of acid and alkaline hydrolysis of esters. 

Watch Video Solution

14. The boiling points of carboxylic acids are higher than those of

alcohols. Explain with suitable examples. 

Watch Video Solution

https://dl.doubtnut.com/l/_fVU5c59QVKnX
https://dl.doubtnut.com/l/_aSm2k2zrFKnI
https://dl.doubtnut.com/l/_LNsjCPwpmS3a
https://dl.doubtnut.com/l/_CQKfIbmVVC48
https://dl.doubtnut.com/l/_kxICruAdppXl


15. Give equations for the reaction of acetic acid with (i)  (ii) 

(iii)  .

Watch Video Solution

PCI3 PCI5

SOCI2

16. Give the order of reactivity of various acid derivatives towards

nucleophilic substitution. Solution 

Watch Video Solution

17. Nitrobenzene to benzoic acid

Watch Video Solution

18. Predict the order of acidic nature of (i) p-nitrobenzoic acid (ii) p-

methylbenzoic acid (iii) p-chlorobenzoic acid (iv) p-methoxybenzoic acid 

W t h Vid S l ti

https://dl.doubtnut.com/l/_kxICruAdppXl
https://dl.doubtnut.com/l/_coT8DRKVTWBt
https://dl.doubtnut.com/l/_KrPnwAXF2OU8
https://dl.doubtnut.com/l/_1JDCr1byErox
https://dl.doubtnut.com/l/_7pMtLBJp5szv


Watch Video Solution

19. The �rst ionisation constant of oxalic acid is much greater than its

second ionisation constant. Justify. 

Watch Video Solution

20.   "Salts of acetic acid are useful in the preparation of several organic

compounds". Account for the observation with suitable examples. 

Watch Video Solution

21. Explain how acetic acid can be converted to: glycine and lactic acid. 

Watch Video Solution

22. Acid halides undergo esteri�cation at a faster rate than acids.

Explain? 

https://dl.doubtnut.com/l/_7pMtLBJp5szv
https://dl.doubtnut.com/l/_AtVdy8wcJ7gg
https://dl.doubtnut.com/l/_XDpTWf72rj0u
https://dl.doubtnut.com/l/_zx25prMQeHkI
https://dl.doubtnut.com/l/_I3mKzdcbrm5p


Watch Video Solution

23. . Name the

reaction in the formation of C from B.

Watch Video Solution

C6H5CONH2
dil .NaOH

−−−−−→ A
NaOH

−−−−−−→
CaO

B
CH3Cl

−−−−−−→
AlCl3

C

24. .Write the organic

products A, B, C and D. Discuss these conversions.

Watch Video Solution

C6H6 + Br2
AlCl3

−−→ A
Mg. ether

−−−−−→ B
CO2

−−→ C
H2O

+

−−−→ C

25. 

.Name the functional isomer of compound E in the above sequence. 

View Text Solution

CH, COOH −
Cl2 .P

−−−→ A
esterification

−−−−−−−−−→
C2H5OH /H +

B
alc .KCN

−−−−−→ C
hydrolysis

−−−−−−−−→
H2

D
heat150

−−−−−−−
−CO∅

H +

https://dl.doubtnut.com/l/_I3mKzdcbrm5p
https://dl.doubtnut.com/l/_OaQ8Xe0kbFch
https://dl.doubtnut.com/l/_v78TJOkQVfUl
https://dl.doubtnut.com/l/_iVOtWgJyQ7kN


Conversions

1. Methanol to acetic acid

Watch Video Solution

2. Ethanoic acid to propanoic acid

Watch Video Solution

3. Benzene to methylbenzoate

Watch Video Solution

4. Propanoic acid to acetic acid

Watch Video Solution

https://dl.doubtnut.com/l/_R8PrLQS9xIoW
https://dl.doubtnut.com/l/_35zxwuqY67sR
https://dl.doubtnut.com/l/_hMLV6ffysVBH
https://dl.doubtnut.com/l/_iUuN0gZYf7lb
https://dl.doubtnut.com/l/_99DNYkiiJ2Lj


5. Nitrobenzene to benzoic acid

Watch Video Solution

6. Benzene to phenylacetic acid .

Watch Video Solution

7. Benzene to p-nitrobenzoic acid

Watch Video Solution

8. Benzene to m-nitrobenzoic acid .

Watch Video Solution

9. Benzene to m-nitroacetophenone .

https://dl.doubtnut.com/l/_99DNYkiiJ2Lj
https://dl.doubtnut.com/l/_F6b5BVO6bKRs
https://dl.doubtnut.com/l/_1wWESoPtZcD9
https://dl.doubtnut.com/l/_0sqHHxX66r3r
https://dl.doubtnut.com/l/_XwZSwvkyov35


Watch Video Solution

10. Ethylbenzene to benzoic acid

Watch Video Solution

11. Bromobenzene to benzoic acid .

Watch Video Solution

12. Styrene to benzoic acid

Watch Video Solution

13. Acetophenone to benzoic acid

Watch Video Solution

https://dl.doubtnut.com/l/_XwZSwvkyov35
https://dl.doubtnut.com/l/_sazItHu5KNfO
https://dl.doubtnut.com/l/_5l4P5LiH8A8L
https://dl.doubtnut.com/l/_5PCwtH8KJOMT
https://dl.doubtnut.com/l/_sH6JOHxKqWic
https://dl.doubtnut.com/l/_7ucSHGKrRfPe


14. Write chemical reactions of a�ect the 4-Methylacetophenone to

benzene -1,4 -dicarboxylic acid transformations.

Watch Video Solution

15. Butanol-1 to butanoic acid .

Watch Video Solution

16. Write chemical reactions of a�ect the Cyclohexene to hexane-1, 6-dioic

acid transformations.

Watch Video Solution

17. Write chemical reactions of a�ect the Butanal to butanoic acid

transformations.

Watch Video Solution

https://dl.doubtnut.com/l/_7ucSHGKrRfPe
https://dl.doubtnut.com/l/_PE2wX2d1kw6h
https://dl.doubtnut.com/l/_hqi9r6xcAalw
https://dl.doubtnut.com/l/_l9Me9mhwhKPn


18. 3-Nitrobromobenzene to 3-nitrobenzoic acid .

Watch Video Solution

19. Write chemical reactions to a�ect the following transformations : 

Benzyl alcohol to phenylethanoic acid

Watch Video Solution

https://dl.doubtnut.com/l/_gS95zpIsq4ba
https://dl.doubtnut.com/l/_AXnkanI5I1nW

